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=

Alternatively

T
DMYV = [Sta"ﬁard Cost a
Per Unit ] [ﬂctum -
X
[ Rs.450 Outpur ~ pi?;dl?mpm in
24 units of 1y TS

Note: Following inpyt ;

=(Rs.5) (90 units - 101

=R3.58‘35{A}

M

7 units)

X

y ) 60 Units
- 80 unit

Z . 5

T

INput for 1unit of

CA R. K. MEHTA |

uutput}

X = INg input is required: —
Y - 5010 =  Bunits
80/10 - 8 un
7 - units
100710 = 10 units
24 units
SP x SQAQ SP x RSQ SP x AQ AP x AQ
M1 ME B _MH_J_._ “‘
200 x 1,000 200 x 1,010.50 200 x 1,010 210 « 1,010
=2,00,000 =2,02,100 = 2,02,000 =% 2,12,100
50 x 4,000 50 x 4,042 50 x 4,200 49 x 4,200
= 2,00,000 =2,02,100 =2,10,000 = 2,05,800
20 x 5,000 20 x 5,052.50 20 x 4,800 21 x 4,800
=1,00,000 = 1,01,050 = 96,000 = 1,00,800
7 x 10,000 7 x 10,105 7 x 10,200 6.5 x 10,200
= 70,000 = 70,735 =71.400 = 66.300
5.70,000
- M, — Ms
DMCV = " _
- 2,00,000 -2.12,100 = T 12,100 (A
A = ' - 7 5800(A)
- 200 000 - 2,05 800
B = < = T 800(A)
_ 100,000 - 1,00.800
“ _ 70,000-66300 = 2 3700(F)
p = 700007 2 15,000 (A)
- My
= 3 - % 10,100 (A)
DMPV: ~ 02,000 - 2 12,100 _ % 4200(F)
A 2 10.000—2.05-509 - T 4800(A)
B~ 96,000 - 1,00,800 = ¥ _500(F)
C 71400~ 66,30 2 5600 (A)
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DMUV = M, — M B 00 (A
A = 200,000~ 202000 . 12[5'3000({ )
B = 200,000 —2.1gbﬂuﬂﬂ - s 4 IE]DD (F)
C = 1,00,000-96, = -
= 7 1,400 (A)
D = 70.000 — 71,400 ~ 9400 (A
A = 202/100-2,02000 % = =it A)
B = 202100-2,10,000 = 5 050 (F)
C = 1.01,050- 96,000 = ; Eﬁé W
= . 0 =
D 70.735-71,40 A A
DMYV = M; — M;
A = 200,000-2,02100 = T 2,100 (A)
B = 200,000-2,02100 = T 2,100 (A)
Cc = 1.00,000-1,01,050 = ¥ 1,050 (A)
D = 70,000 - 70,735 = T 735 (A)
Z 5,985 (A)

Alternatively,

payY)Y =(Standard Cost per unit) (.ﬂctual Output -

——

Expected Output
in Actual Input

' ¥5,70,000 . 20,210 kgs.
- _ 19,000 units ——
19,000 units) [ 1007} J
=(% 30/ unit) (19,000 units-19199.50 units)
=¥ 5,985 (A)
Ans. to Q.3
SP x SQAQ SP x RSQ SP x AQ AP x AQ
M, M, M, M,
A 2,500 =114 2,900 x 120 2,500 x 115 2.300 x 115
= 2,85,000 = 3,00,000 = 2,87,500 = 2.64,500
3 3500x76 3,500 x 80 3,500 x 85 3,600 x 85
= 2,66,000 =2,80,000 =2,97,500 -
ST 97, = 3,06,000
CMCV - M| — M4
A = 285,000-264500 = T2
.64, = 0,
B = 266,000-3.06000 = T 40 ggg ((i)) '
OMPV = = M, % 19,500 (F
A = 287,500-264500 =
[ ' i ' — ?
B = 297500-3,06,000 = 3 253:%00 AF
¥ 14,500 (F)
DMUV = My =M,
A = 285000287500 -
B = 266,000-~2,97,500 = ; 335235"; A]
DMMV = 234,000 (A)

M- — M,
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A =

B = 3‘33'3“‘“ —2,87.500 = T 12.500 (F)

.80.000 - 2,97 500 = T 17,500 (A)

T_5.000 (A)

DMY: - 2 My,

B - E-EE.D{}U - 3.00.000 = T 15,000 (A)

66,000 - 2.,80.000 = T 14,000 (A)
Alternatively, T _29.000 (A)

DMYV = (Standard cost per unit) [Actual

Expected Output

Output  in Actual Input }

{ 5,51,000 200 unit
- . S
( 171 units }[1?1 units - }

[9%%,)
= ¥ 29,000 (A)

Note—1 Revised Standard Quantity (RSQ)
Total of Actual Input = 20 units

Budgeted Ratio = 3:2

A=200 x% = 120units;B = 200 x % = 80units

Note—2 Budgeted Input for one tonne of output

As per standard, in order to produce 90 tonnes of output, 60 tonnes of A and 40 tonnes of

60
. - ~— | tonnes of A and
B is to be used. Hence, in order to produce 1 tonne of output, (%)

(il-}—] tonnes of B is to be used.

90

Note—-3 |
SQAO = Actual Output x Budgeted input per tonne

A =174'l:~-='-2[1 =114 tonnes

90
B=l?lxi{}-=76 tonnes .
” = (115 + 85) tones — 29 = 0
= Actual Input - Actual LosS
Note 4 : Actual QOutput
AP x AQ
Qs RSQ SP x AQ
SP x SQAQ SP ;‘-L . 36;1,,130
= 400 x 160 400 x 180 O oo
A 400 x 164 " 64,000 - 72,000 - ;220
00 20
- 6500 500 x 240 600 x 2 oo 320
B 600 x 246 o 0t 22,000
= 1,4?.@_00 =

213,20
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Revised Standard

9.22

uantit

Total of Actual Input = 400 kgs
Budgeted Ratio = 40:60 = 2:3

3 B
A=4U(}x%=60{} ks + B=400x % =240 kg

Actual Output x Budgete

40

=369 x — =164 kgs
A=307%95

60

B =369 x — =246 kgs
90

DMCV

>
nnou

x> > b
IR (T TR

U:':bé

Alternatively,

DMYV = (Standard cost per unit) (Actual

¥2,13,200
369 kgs.

=% 5,200 (F)

J [359 kgs. — 499

o]

M1 - Mﬂ
65,600 — 64,800
1.47.600 —1,49,600

M; — My
72,000 — 64,800
1,32.000 - 1,49,600

M1 - M::,
65,600 - 72,000
1,47.600 - 1,32,000

M — Ms
64,000 - 72,000
1,44,000 - 1,32,000

Ml - ME
65,600 - 64,000
1,47,600 - 1,44,000

100

d input per unit of output

I

T 800 (F)
Z 2.000 (A)
Z 1,200 (A)

2 7.200 (F)
Z_17.600 (A)
2 10,400 (A)

2 6,400 (A)
%_15,600 (F)
T 9,200 (F)

3 8,000 (A)

X 12,000 (F)
< 4000 (F)

3 1,600 (F)
T_3.600 (F)
3_5.200 (F)

~ Expected Output
Output  in Actual Input }

kgs.
9

Standard Quantity to produce 1 unit of output o o o
Qutput 5
20 ﬁgs 60 kgs. 100 kgs_____‘ﬂ‘;
30"‘;?5. 40), * -E{_}.)kgx. [MJI;;;.';.1 | |
T)E k‘i_{'.\. L)O 90 I
—
SQAQ
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SP x SQAOD ” * _
M, — SP x RSQ
_--__-_-_-_-_-__-_-_-—-—-_
A 7x51500 ——————M SP x AQ AP x AQ
= 3,60,500 7x50000 o - M
8 5 x 30900 = 3,50.000 7 % 53,000 7 » 53,000
—1.£4 a0 5 x 30,000 = 3,71,000 =3,71,000
C 2 x208600 = 1,50 000 5 x 28,000 5.30 » 28,000
41560 2 x 20,000 = 1,40,000 ' =1,48.400
= 40,000 2:3159&}'3“[] 2 20 = 19,000
Revised Standard Quantity (r 000 = 41,800
Total of Actual Input = 1 oo DDDS
Budgeted Ratio = 5:3:2 e
5
A=100,000x — =
10 30,000 tonnes
_ 3
B = 1.00,000 x -l-—d = 3{}_[}D0 tonnes
C =1,00,000 x =
= 1,00, X E = 20.000 tonnes
Eudgete% Intgut for one tonne of output
utput . Input (tonnes) 1 Total
B ‘ |
9 5 3 10

1 5{} %

% 10/

SQAQO = Actual Output x Budgeted input per unit of output
A =92.700 x % — 51.500 fonnes

B = 92.700 x % — 30.900 tonnes
C = 92,700 X % - 20.600 tonnes

VvV = M, — M
DMCA _ 360,500 —3.71,000 _ % 10500 (A)
B = 1.54,500 - 148,400 = ; 5_1503 u;]
= _ 41,800 - 00 (A)
c = 41,200 500 (A
- M3 - Mq |
DMPI _ 371,000 -3,71,000 . Nusm .
B = 140,000 — 1.48,400 = = 400 {A}
~ '3g'200-41.800 - 7 3800(A)
C ° ’ 7 12.200 (A)
- My — M _
Rt LT
= 1545007 o - 7 3200(F)
g ~ 41.200-3800 z_7.200 (F)
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DMPV = M, — Ms
A = 350000-371000 = §fé‘3§3“§’
B = 150,000~ 140000 = z'u tFi
C = 40 000 — 38,000 = T 2000(F)
Z 9,000 (A)
DMYV = M|—M2
A = 360,500-350000 = T 10,5:::0(1 (FF)
B = 154500-1,50000 = T 4,50 EFJ
C = 41,200 — 40,000 = T 1,200 (F)
7 16.200 (F)
Alternatively,

t ) "Actual
DMYV = (Standard cost per uni [Dutﬂut

Expected Output
in Actual Input

1,00,000 tonnes } =7 16,200 (F)

? 5,56,200 ,
= . d 2.? 0 ts - ‘
Ans. to Q.6
SP x SQAQ SP x RSQ SP x AQ AP x AQ
M, M. M, My
A 2x816=7163.2 2 x 80 = 160 2x70=% 140 210 x 70=% 147
B 5x408=% 204 5 x 40 = 200 5x50=%X 250 4.50 x 50 =% 225
%_367.20
DMCV = M, - M,
A = 163.2-147 = R 16.2 (F)
B = 204-225 = T 21(A)
T _48(A)
DMPV - Mg— M4
A = 140-147 = T 7(A)
B = 250-225 = % 25(F)
< 18 (F)
DMUV = M; = M,
A = 163.2-140 = T 232 (F)
B = 204-250 = T 46 (A)
T 22.8 (A)
DMMV = M, = M,
A = 160-140 =
s T sl - 2.
2 30 (A)

DMYV = (Standard cost per unit) [Actual _ Expected Output

Output

in Actual Input ]

_ T 367.20 120 k
[102 kgs.J (102 Kgs. - gS'J:??.Z (F)

1.2
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M, ___H""__"*—*—%Ei.ﬂﬁq
A 20x12375 = — M, — ———  SP<AQ

AP xAQ
=% 2475 201202 ————M My
B 10x825 ¥ 2.400 20 « 105 20 » 105
=3 825 10 » B0 =% 2,100 =2 2,100
¥ 3.300 = 80O 10 = 95 9 » 95
DMCV = =% 950 =2 855
- M, =M,
E‘ - 2475-2100 )
= 825 - g55 = % 375 (F)
— = T_30(A)
A i M, - M, 3 345 (F)
= 2,100 -
B = 95 21DD - Nl
S8 = T 95(F)
- T 95 (F)
DMU‘: : M, - M,
A ; 2,475 - 2,100 = T 375(F)
2 250 (F)
DMMV - ME—M3
A = 2400-2100 = 7 300 (F)
B = 800 - 950 - 2 150 (A)
2_150 (F)
tandard ¢ ) Actual  Expected Outpul
DMYV =(Standard cost per t Qutput ~in Actual Input |
200 kgs.
(Z 3.300] 165 kgs. - 220K }
165 kgs. 080
=¥ 100 (F)
Ans. to Q.8
Material Cost Variance Sp x AQ AP x AQ
SP x SQAO SP x RSQ M M,
__-—M-z-*"""‘r 3 7 4.5 x 25,700 1bs
M Nil 4 4.20x25,7l}0 lbs X e - ‘
¥ 420 x 25,600 Ibs. -7 1,07,940 =2 1,15,
=¥ 1,07,520 y unit
- t x Budgeted InpU
SQAO = Actual O}IfPU # oo ® 25 600 IbS.
= 5 120 pieces * : 15,65 -7 8,130 (A)
DMCV = M;—Ma = 523 15650 =3 7710 (A)
DMPV = M3 —Ms= D?.E":D 1 .D 940 = 420 (A)
DMUV = My — Mg = 1.07:957
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Labour Cost Variances SR x AH AR x AH
SR x SHAO SR x RSH __t__—-_-___—-_ L. —
3 T e——
Ly :::I LI 33; 1%150 hrs.
Z 3 x 15,360 hrs. | 'z 45.450 =3 48,480
=T 46,080 o |
SHAO = 5,120 pieces x 3 hrs. per piece = 15*3;“ hrs
LGV = L, — Lo = 46,080 — 48.480 =% 2.400¢
DLRV = Ly — Ly = 45,450 — 48,480 = 7 3,030 (A)
OLEV = L, — Ly = 46,080 — 45,450 =¥ 630 (F)
Ans. to Q.9
ns. o SR » AH AR x AH
SR x SHAO SR xLHSH L L
- Ni Z 2 x 9,000 hrs. % 20,000
¥ 2 x 6,000 hrs. _ 7 18.000
=2 12,000 |
SHAO = Actual Output x Budgeted hrs./ unit
= 4,000 units x 1.5 hrs./ umit
= 6,000 hrs.
DLCY =L,—Ls=12,000- 20,000 = ¥ 8,000 (A)
DLRV = Ls—Le=18,000-20,000=% 2,000 (A)
DLEV =L,—_Lg=12,000-18,000=% 6,000 (A)
Ans. to Q.10
SR x SHAO SR x RSH SR x AH AR x AH
L L2 Li Ly
Skilled 60 x 3,000 60 x 3,200 60 x 2,560 65 x 2,560
= 1,80,000 =1,92,000 =1,53,600 = 1,66,400
Semi- 36 x 1,200 36 x 1,280 36 x 1,600 40 x 1,600
skiled =43,200 = 46,080 = 57,600 = 64,000
Un- 24 x 1,800 24 x 1,920 24 x 2,240 20 x 2,240
skiled =43,200 = 46,080 = 53,760 = 44 800
DLC\J - L'| - Lq
Skiled = 1,80,000 - 1,66,400 = % 13,600 (F)
Semi-skiled = 43,200 - 64,000 = 7 20,800 (A)
Unskilled — 43,200 - 44,800 — I 1600 {JE\]
< _B.800 (A)
DLRV = Ly - L,
Semi-skilled = 57,600 - 64,000 =
Unskiled = 53 ' 3 6.400 (A)
210,240 (A)
Skiled - R
lled = 1,80,000 - 1,53.600 = 728
i-ski e = 400
3‘-‘3'-5:!"]'&3 = 43,200 - 57,600 = T 14400 Ei])
3,200 - 53,760 = 210560 (A)
T_1.440(F)
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Skilled = Lo ~
Semi-skiled - 92,000 -21.5.5-15[1[1
Unskilled = 52080~ 5765, = % 38,400 (F)
6.080 - 53 76, = T 11520 (A)
= 7680 (A
DLYV = 2_19.200 (F)
Semi-skilled = 29000 - 1,92 og _
Unskileg = 43200~ 46050 o g OiR
= 43‘200__45.%[} = I 2,880 (A)
= ¥ 2880 (A)
2 17.760 (A)
Ans. to Q.11
Output Absorbed VO In
- T 9,000 - VO, -
¢ 8,750 ¥ 9,150
Output Absorbed VO = Actual Outpyt « Budgeted VO/ Unit
= 360 units « ~10.000 _
400 units ¥9.000
Input Absorbed VO = Actual Hours » Budgeted VO/hr.
= 7,000hrs.x ; Dlg[']”h'::_";’ -28,750
VO Cost Variance =V0, -V0;=9,000-9,150 =% 150 (A)

VO Expenditure Variance = VO, — VO, = 8,750 — 9,150 =T 400 (A)
VO Efficiency Variance = VO, — VO, = 9,000 - 8,750 = 250 (F)

Ans. to Q.12
Output Absorbed FO Input Absorbed FO Eudgsgﬁ FO Act;::{a:: FO
FO 2 FO4
(4 GZCEUU 360 ;DD 2 70,000 272,000

Output Absorbed FO = Standard hrs. for Actual Output » Budgeted FO/ hour
u

- 21.000 hrs. T 3/ hr.

=¥ 63,000
= Actual hrs. x Budgeted FO/ hrs.

Input Absorbed FO o o
= 60,000
)lance = FO,-FO«= 63,000 - 72,000 :': 22[;2 ii}]

FO Cost Varia ‘ i 0,000~ 08 rUDO "
FO Budget van?nce it 3 000 - ?G.QDU _+ 3?600 v
FO Volume Vanar.me o FOse 3,000 - 50,000 ’i 110 on,
© Efﬁciencyv\r'aﬁ T;ZE _ FO,-FO3* 60,000 - 70,000 =X 1V,
FO Capacity Vana
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ns. 10 .43 Actual FO
ciua
Output Absorbed FO Input Absorbed FO Budgeted FO FO, T

FO, FO, O —— T 6,000

T 5,250 T 5,500 e d FO/ Unit | |

Output Absorbed FO = Actual Output x Budgete |

Rs.5.000

= 1.O50 units x 1,000 wnits

=% 5,250

= Actual Hours x Budgeted FO/ hour

Z 5,000
= 11,000 hours X (1,000x10}hﬂur5

Input Absorbed FO

=¥ 5,500
FO Cost Variance = FO, —F04 =% 730 (A)
= FO, - FO, = 5,000 - 6,000 =% 1,000 (A)

FO Expenditure Variance
FO Volume Variance = FO, - FO; = 5,250 — 5,000 = T 250 (F)
= FO, — FO5 = 5,500 - 5,000 =X 500 (F)

FO Capacity Variance
FO Efficiency Variance =FO, - FO,=5250= 5500 =T 250 (A)

Ans. to Q.14
Output Absorbed FO Input Absorbed FO Possible FO Budgeted FO Actual FOQ
FO, FO, FO; FO, FOs
T 1,27,320 T 1,20,960 T 1,38,240 T 1,44,000 T 1,42,000
Output Absorbed FO = Actual Output x Budgeted FO/ Unit
. Z1,44,000
= 5,305 units — =31,27,
“6.000 units < 1+27+320

120 machines x 25 daysx 8 hrs.

Budgeted Output il 4 hours per unit
Ml
= 6,000 units
Input Absorbed FO = Actual Hours x Budgeted FO/ hr.
= 20,160 hrs. x —~24.000
24,000 hrs.
=% 1,20,960
;ELualtHdm;_'rs = 24 days x 840 hrs. per day = 20,160 hours.
- E;IE Fonurs = 25 days x (120 x 8) hrs. per day = 24,000 hours
& = Possible Hours x Budgeted FO/hr. |
= 23,040 hrs. x Xs.1,44,000 =Rs. 1,38,240
F o 24,000 hrs. 77
O Cost Vnanc:e =FO,-FO5=7 14680 (A)
FO Expenditure Variance =FO4~FO5=% 2,000 (F
FO Volume Variance =FOy-FO,=% 1;3 53;_& L
FO Efficiency Variance = FQ, — FO, = 6,360 (F) e
FO Capacity Variance =FO, - F(I)3 =T 17280
FO Calendar Variance =FO;~FO,=% 5 ?:60 ( ;?)
4= '
—
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Output Absorbed FO |
—

FO, nput AbSDI‘hed FO Posaity
—%1,53,090 : 1"?% ble FO  Budgeted FO  Actual FO
0,100

5—:1%'33— FO, Frls
Output Absorbed Fo 02,000 T 1,50,000 ¥ 1,56,000

= Actual Outpyt « Budgeted FO/ Unit

= 1.53,090 units »*1.50.000
1,50,000 units

=3 1,530
Budgeted Output .

=25 days x 6000 hrs. per day ~» 1 unit per hr.

=1,50,000 unit
Actual Output -

=27 days x 6,300 hrs. per day = 0.9 unit per hr.

= 1,583,090 units
Input Absorbed FO = Actual Hours x Budgeted FO per hr.

= I:THJUU hf,"l'. x ? LSU‘U[H]

1,350,000 Ars,
=% 1,70,100
Actual Hours = 27 days x 6,300 hrs. per day
=1,70,100 hrs.
Budgeted Hours = 25 days x 6,000 hrs. per day
= 1,50,000 hrs.
Possible FO = Possible Hours = Budgeted FO/ hr.
¥1,50,000
= (27 daysx 6,000 hrs./ day) x 150.000 hrs.
=7 1,62,000
Ans. to Q.16. | AP x AQ
| SP x AQ X
SP IMSQAG M, M,
1
7 10/kg. x 2,900 kgs.
SQA0 = 1 .40‘5’“';”“5 e X 24,000 (A)
pMcv = Mi=WVs = 73,000 (A)
DMPV = :::z r::fl = %1,000 (A)
DMUV = 1 — W2
— — ARxAH
— SR X AH Ls
SR x SHAO L, 268,000
Ly z 20/hr x 3,300 hrs

X 20/hr. x 3,420 hrs.

- 266,000
=368,400 | T 3r42[] hrs.

SHAO = 1,14

e

e ———
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DLCV = L,- = 2400 (F)
DLRV = L,-L, = 72,000 (A)
DLEV = L,—L, - 72.400 (F)

Fixed Overheads Variances

Output Absorbed FO (FO)

Actual Output x Budgeted FO / Unit
1,140 units x T 80 / unit.

T 1,02,600

Input Absorbed FO (FO;)
= Actual Hours x Budgeted FO / Hr.

= 3,300 hrs. x¥ 30/ hr.

= ¥ 99,000 2 50000
Budegeted FO (FO;) = 1,000 units X T 90 / unit = .
= T 88,000
FO Cost Variance = FO43—FOq _ 22.000 (F)
FO Exp. Variance = FO;-FOq4 ) v 12.600 (F)
FO Volume Variance = FO,—-FOs - '
_ _ _FO = ¥ 3,600 (F)
FO Eff. Variance FO; - FO; _ 00 (F
FO Capacity Variance = FOz—FOs3 = ¥9,000 (F)
Ans. to Q. No.17
Material Cost Variance :
SP x SQAO SP x AQ AP x AQ
M1 Mg M:]
T 1.5x4,150 kgs. T 1.5 x 3,900 kgs. 16,435
=% 6,225 =3 5,850
DMPV =585 (A)
(SP) (AQ) - (AP) (AQ) = -585
(T1.5)(AQ)}-T6,435 = =585
Hence, Actual Quantity consumed = 3,900 kgs.
DMUV = R 375(F)
(SP) (SQAQ) - (SP) (AQ) = 375
(X 1.5) (SQAQ)-T 5850 = 375
Hence, SQAO = 4,150 kgs.
We know that -
SQAOQ = Actual Output x Budgeted Input per unit.
Hence, Actual Output = QA0
BudgetedInput / unit
4,150 kgs.
J — = 415 units,
10 kgs./unit

Actual Price of Ratw Material = —~ctual Material Cost
Actualnput consumed

=X 1.65/kaq.

3,900 kgs
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Labour Cost Variance ———— ___CARKMEHTA_
B SR x SHAQ 7]
L, m‘ﬁ— _
Z 8/hr. x 2,075 hrs. . L, AR x AH
=7 16,600 OMr. X 2,120 hyg =
(SR} (AH) - (AR) (AH) - R: =636 (F) —
(X 8/hr.) (AH) - 16,324 - Biﬁ
AH =2 120 °
Actual Hm;i:::rkm are 2 120
= 360
(SR) (SHAQ) - (SR) (AH) = _ 35?]
(X 8/hr.) (SHAQ) -7 16,9680 = _ 35
Hence, time allowed f N SHAO = 2,076 hrs
' Or actual productign = 2,075 hrs.
Actual Wage Rate per hoyr = ACtuallab. Cost
Actual Houyrs
116,324
2 120 = R 7.7/hr.
Fixed Overheads Variances
Output Input Budgeted Actual
Absorbed Absorbed
(FO4) (FOy) (FO3) (FO.)
< 20,750 < 21,200 < 20,000 320,400
FO, = Actual Output x Budgeted FO/unit
= 415 units x T 50/unil
= 20,750
FO, = Actual Hours x Budgeted FO/hr.
= 2,120 hrs. x < 10/hr.
= 21,200
¥ _ = T 750(F)
FO Volume Variance 5 < 750
Output Absorbed FO - Budgeted F ; 50
2 20750 — Budgeted FO _ 220,000
Hence, Budgeted FC‘_ _ 7 400(A)
FO Expenditure Variance _ 7 400 (A)
Budgeted FO — Actual FO - —400
Hence, Actual FO - FO,-FO:
FO Efficiency Variancé _ 7 450(A)
FO4 | FO.
Ans. to Q. No. 18 FOs | .
FO, FO: T 38,400 ¥48.000
+ 232,000 (Note - 1)
¥ 34,000 30400 | (Note )
___(Note - 2) (Note =3) ——
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Note—1: Annual Budgeted FO =% 4,80,000

Note —2: Output absorbed FO = Actual Out

Note 3:  Input Absorbe

1.
Z

3

Total weeks during the year = 50
No. of weeks in the month = 4 A
2 =%138,400

.

: - X
Hence, Budgeted FO during the month =% 4,80,00V 50

put X Budgeted FO/unit

. (24,80,000 - ?_mﬂit]
= 17,000 units X [ 3 40,000

= Rs, 34,000
d FO = Actual Hrs. X Budgeted FO/Hr.

= 152 hrs. xT 200/hr. = Z 30,400
Actual Hrs. worked = 4 weeks x 38 hrs./week.
= 152 hrs.

( 5 days : :
- 2day> | .2 hrs. (idle time)
Hrs./Week LI‘IB hrs. X ﬁdayEJ

38 hrs.
Budgeted FO
Buggeted: FOM, Budgeted Hours

% 4,80,000 _ 5500 /hr.
2,400 hrs.

2,40.00? units _ 2 400 hrs.
100 units/hr.

1

I

Budgeted Hours

Note4: Possible FO =  Possible Hours x Budgeted FO/hr.
= 160 hrs. x X 200/hr.
= ¥32,000
Possible Hours = 5 days/week x 4 weeks x 8 hrs./day
= 160 hrs.
Computation of Fixed Overheads Variances
FO Cost Variances = FO; — FOs = 314,000 (A)
FO Exp. Variance = FQO4—FOQOs = Y9,600 (A)
FO Vol. Variance = FO, - FOQ, = T4,400 (A)
FO Eff. Variance = FO, - FO, = 3,600 (F)
FO Cap. Variance =FO,; - FO, = T1,600 (A)
FO Calender Var. =FO;-FO, = ¥ 3:400 (A)

4,
5.
6.
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Output Absorb anable Qyomic———
p vo. ed Vo nﬂﬂmvarian@
- — Put Absorbeq yq
< 28,800 VO, Actual VO
VO
Output Absorbed Vo T 21,600 2
= Sta ¥ 25,000
_ Ndard Hoyrs tor Act
_ 11200 units x 3 prs 4 ual Output x Budgeted VO/hr
i ?.400 hes. X T 12/py nit) 12 12/hr.)
Input absorbed VO - AEtE'BDD
= 1ﬂaual rs. x Budgeted VO/hr
o h 00 hrs x 2 12/hr.
‘ = Rs, 21600
1. VO E:pt?ndlture Variances = VO, - VO, =
2. VO Efficiency Variance = v, _ VO, o 3= 3,400 (A)
3. VO Cost Variance = vQ, _ h.,:j 2 =37.200 (F)
: * 1= 3 3,800 (F)
Fixed Overheads Vﬂriances
Output Absorbed FO
FO, '"P“; Absorbed FO Budgeted FO  Actual FO
2 96.000 o FO FO,
| 372,000 T 80,000 % 72,000
Output Absorbed FO = Standard hrs. for Actual Output x Budgeted FO / hr.
= (1.200 units x 2 hrs./unit) [3 BFLUDE‘J
2,000 hrs.
= (2,400 hrs.) (T 40/hr.) = T 96,000
Input Absorbed FO = Actual hours x Budgeted FO/hr.
= 1,800 hrs. x T 40/hr,
= 72,000
4. FO Expenditure Variance = FO;-FQ, = % 8.000 (F)
5. FO Volume Variance = FO,-FO; = 16,000 (F)
6. FO Capacity Variance = FO,-FO; = 2 iggg {i}
7. FO Efficiency Variance = FOy-FO; = 324,000 (F)
. . FO.-FO, = 124,000 (F)
8. FO Cost Variance !
Ans. 10 Q. No. 20 Calculation of Material Cost Variance " ]
SP x AQ AF IM Q
SP x SQAO M y
M, 2 40/kg x 500 Kgs. X :;E{Egdgnm kgs.
T 40/kg. x 480 kgs. =¥ 20,000 '
=¥ 19,200 —
Input / uni
SQAO = Actual Output X Budgetfd 0 kgs.
: junit = 480 K9
= 120 units x 4 KgS- )
= 200
DMCV - M1 - M3 z 1'000 {F)
DMUV - M1 - ME




Bl —

e i

VO Expenditure Vanance

VO, — VO, = T 540 {A}

| COST ACCOUNTING ~7 I
Calculation of Labour Cost Variances - —
P x AHp
SR x SHAO SR x AHW SR ’;:H L
. = » 2 11200
hrs. 200
2 16/hr. x 600 hrs. | ¥ 16 hrs. x 580 hrs. 1!195*’9'12? 620 =
=T 9600 =3 9,280 k- A-Lon
SHAO = 120 units xS hrs./unit = 600 hrs.
DLCY = L;-L, = ¥ 1,600 {Fi}
DLRY = Li—-La4 = ¥1,280 (A)
lw - L: — L; = f Edﬂ {A]
DLEV = Li-L: = T 320(F)
Calculation of Variable Overheads Variances Actua
Gutput Absorbed VO Taput Absorbed VO m‘ “‘ﬁ Ta
v H"ﬂ1 vu?
7,200 ¥ 6,960 < 7.500
. JHr. —
= actual output X budgeted VO
Output sosoriec . ﬁtg:]l::ﬁutsh; 5 hrs./unit) (2 12/hr.) =600 hrs. x TA2/hr. =37 200
Input Absorbed vO = Actual hrs. X Budgeted VO/hr. = 580 hrs. x ¥ 12/hr. =¥ 6,960
VO Cost Variance = VO,-VO;=T300(A)

VO, - VO, =T 240 (F)

VO Efficiency Variance
i dgeted SP/Unit Actual SP/Unit
Budgeted SP/Unit Budgeted SP/Unit Bu
X Eu:getgd Quantity X Revisted Std. Qty. x Actual Qty. x Actual Qty
' S, S Sy S
A —» T 5 x 5,000 units T 5 x 6,250 units ¥ 5x6,000 units T6x6,000 un'!ts
B —» 76 x 4,000 units 26 x 5,000 units T 6 x 5,000 units T 5 x 5,000 units

C-»T7x3.000 units
Computation of Sales Variances :

T 7 x 3,750 units

T 7 x 4,000 units

T 8 x 4,000 units

Value Variance | Price Variance | Volume Variance | Mix Variance | Qty. Variance
Se— 5y 54"5; S:- S, S;—sl 53*51
A > ¥ 11,000 (F) < 6,000 (F) < 5,000 (F) 31,250 (A) 16,250 (F)
B - T 1,000 (F) < 5,000 (A) < 6,000 (F) NIL ¥ 6,000 (F)
C- ¥ 11,000 (F) ¥ 4,000 (F) < 7,000 (F) 1,750 (F) < 5,250 (F)
Total < 23,000 (F) < 5,000 (F) T 18,000 (F) T 500 (F) X 17,000 (F)

Ans. to Q. No.22

Budgeted Margin/Unit Budgeted Margin/Unit

X Budgeted Quantit X Revisted Std. Qty.
P,

A -» T 20 x 800 units T 20 x 907 units

B — T30 x 700 units T 30 x 793 units

Computation of Profit/Margin Variances :

Ps

T 20 x 900 units
< 30 x 800 units

Budgeted Margin/Unit Actual Margin/Unit
x Actual Qty.

_x Actual Qty.
Pa

T 20 x 900 units
T 10 x 800 units

vnlu: vapriam:e Price Variance | Volume Variance | Mix Variance | Qty. Variance
4~ " Pq—F; Py - P, P.-P i:l_.P
; ?! 25{}00 (F) NIL 2,000 (F) L4 114_0 (;.) 4 24,1140 EF}
13,000 (A) T 16,000 (A) {3,000 (F) 70 (F) 24,930 (F)
Total [ ¥ 11,000(A) | ¥ 16.000(A) | 5,000 (F) X 70 (F) 2 4.930 (F)
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g,;/ GMR Ltd. has syppy, ETARY CONTROL

- 31" March. 2013

resuls for the year ending

Sales (40,000 yn;
_ ' Nits
Less: Trade disc:nurll t L“h;
Net Sales f 4::1
Cost of sales i
D!rect materials "
Dirct wages
Factory overhead 126
: S
Administration ‘530
Selling and d; ujierheads 20
Istribution Overheads a5
The following chan o
es | .
I:I;Iarf.éh,IEU'M: ges are to be INcorporated in the budget for the year ending 31"
2_ Mﬂ fs _quar:.tlty to be increased by 25%
3_ :-el enal prices to INCrease by 15% |
. Direct wage rates to go up by 12%.
4. Factory overheads '

will increase b 9 - »

y 15%. In addition, f |
rde n:?;t:w t!iau:ﬁge T:t a recurring cost of ¥ 12,500 p:r r;:u r?f,nhw will be added 10
and 14% respectively. Ing and distribution overheads are estimated to go up by 10%

6. There will be no change in the rat -
7. All Overheads are fixed. e of trade discount.

o

You are required to present the budget for the year ending 11* March, 2014 showing the
details of total cost, sales and profit.

\_,Qfl-/ Prepare a flexible budget for production at 80% and 100% activity on the basis of the
following information :

Production at 50% capaci** - 5,000 units
Raw Material - T 80 per unit
Direct Labour - T 50 per unit
Expenses - T15perunit
ctory expenses . 50,000 (50% hxeﬂ]
sl dran % 60,000 (60% variable).

Administration expenses -

Q " The monthly budget for manufacturing overhead of a concern for two levels of activity

were as follows : S0% _—

Capacity i ' 600 1,000

Budgeted production (units) . .
1,200 2,000

Wages 900 1,500

Cur?sumable stores 1.100 1,500

Maintenance 1 600 2 000
4,000 4,000

Power am_:l fuel 400 4000

Depreciation : augn 1000

Insurance 9,800 7 000

' : - i-variable.
You aré requiredto - . are fixed, sariable and semi-va
; he items it
(a) Indicate which e o 80% and 100% capacity-

(b) Prepare b




COST ACCOUNTING 0.2 B CAR. K. HEHT\\AJ

\_Q/A‘/ Vivek Elementary School has a total of 150 students -::unsisti_ng ”f.g 5;?3“"5 :‘”th 30
students per section. The school plans for a picnic around the city drunAg rivat:i end to
places such as the zoo, the amusement park, the planstarium. © C'd Fs Eachraﬂqurt
operator has come forward to lease out the buses for taking the:;:.:ll E‘fgr : e le:shwm
have maximum capacity of 50 (excluding 2 seals re's;rrs T o Bup f;?rs
accompanying the student). The school will employ tWo teacther o5t estimates Paying
them an allowance of Z 50 per teacher. The following are the cthe .

Cost per Student (T)

Breakfast

Lunch

Tea

Entrance fee at zoo

Special permit fee T 50 per bus

Block Entrance fee at the planetarium ¥ 250.
Prizes to students for games ¥ 250

Rent per bus ¥ 650

No costs are incurred in respect of th
T 50 per teacher).

Required :
1. qﬁ. flexible budget estimating the total cost for the levels of 30, 60, 90, 120 and 150 students,

2. Compute the average cost per student at these levels.

™

&  The annual budget of a company is as follows :
/M/ ¥ 60% 100%

Costs : (¥ thousands)

5
10
3
2

e accompanying teachers (except the allowance of

Direct Material 180 300
Direct Wages 240 400
Factory Overheads 126 150
Administration Overheads 62 70
Selling Overheads _68 80
TOTAL 676 1000

On account of severe competition in the market, the company is presently operating only at
50% capacity, the sales value of production at current prices charged by company being
¥ 6.00 lakhs. It is anticipated that a 10% discount on its selling price will enable the company
to improve its competitive position thereby enabling the company to operate at 75% capacity.
Present a suitable statement to the management analyzing the implications and giving your

recommendations by preparing flexible budget at 50% and 75% capacity.

}E/ Prepare a Cash Budget for three months ending 30th Jupe, 2013 from the information

given below :
Sales Materials Wages

(a) Month R) ’) =S
February 14,000 9,600 3,000 1,700
March 15,000 9,000 3.000 1.900
April 16,000 9.200 3,200 2 000
May 17,000 10,000 3.600 2 200
June 18.000 10,400 4,000 2 300

(b) Credit items are :
oales / Debtors : 10% sales are on cash 5
month and the balance in the following rﬁnnth
Creditors : Materials 2 months

Wages 7« month
Overheads /2 month

0% of the credit suies are collected next



pa
ased on J
)}/E the fullnwmg mfurmalinn p
'epare 5

) A machine was sold for
m) The cash balanr:e as on J;

Q9.-7A factory manufactures WO 37
make and product Y requirés o4, The budgeted ho

X and 300 units 0
employs 60 men in th
and Efficiency Ratio.

IIEJE"’WEEUHT’NG __‘h-ﬁh-_‘-"“-\____\‘__‘hh— — ————
(d) Other relevany i, On st A e ———
1. Plant ang ;ﬂrhn']at Nis Pl 20 IS Exl;&-.:;;r—"' — CARK HEHTA_]
0 be? 6,000

monthly ingtg :'EW Will be |y

2. Dividend @ of
5% on 2, [ nFe €brua
3. Advancet re N pre fEren:E sﬁ I:'E'Il’*'lﬂtmle fro ;{ 2013 at g Cost of ¥ 96,000. The
4. Dividends fr Celved fq, are capig of Pril anwards,
5. Income Taxm INves Simente o l Saleg of vehicl 2,00,000 will be paid on 1st J
{aﬂv.ance Mountin to AL n Ju ot June.
10 be d '[?1 ¢ 1.000 are éxpect une
une js 7 €d 1o be received in June

Opening Cash balap st Qt Cash bug

Ce r.(3) get for ABC Ltd
Collection from Cy 10.00 2nd Qtr.(7)
Payments : Stomers 1.25‘093 , 3rd Qtr.(R)  4th Qtr.(3)
Purchase of Materig 50,000 16
Other expenses Is 20,000 : 60,000 221,000
Salary and wages 25,000 ZE‘EDD 35,000 54,200
Income Tax 90,000 Bﬁlugu 20,000 17,000
Purchase of machinery 5,000 i 95,000 1.09,200
The Cnmpany dE"EtI"Ed to . —- - : ZD D':Tf;

h‘:.%i_l'l't._hﬂlaﬂ_c_e_ﬂi_jﬁ 000 at the end of each
ot Want to borrn Iples of ? 500 at an interest of 10% per
cash more than what is necessary and wants

to repay as early as pos
sible. In g

Interest is co ny event, loans

Meglnnmpuafeg -and paid when fhe HIME|HEL1;_?EHHQLDHE"E;‘L“ME“ beyond four quariers.

g an Fépayments are made g the end ﬁ?ﬁ;*”suine that borrowing-take place

" S - Quarlers.

quarter. Cash can be po

From the information
,Bj/ given below, prepare a Cash Budget of the Jaipur Refrigerators (P)

Ltd., for the quarter January - March, 2009 -
Dec., 08 - Jan., 09 Feb., 09 March, 09 April, 09

a) Sales Budget Units 60 50 85 o <

b) Selling price per unit % 1.000 1,00 0
. ' 000 1,

c) Off-season discount 20% 20% %I,E 1.000 1,000

d) End of Month | o -

Inventory Units 10 12 15 25 25

Half the sales proceeds are cu!lected in the month of sale and the other half in the

mnpjﬁ following.

f) Materials amounting to ¥ 300 per unit manufactured are purchased one month in
advance of manufacture and paid for in cash earning 5% cash.discount on half of the

matenal purchased.
g) Direct Labour Budget was X 50 per unit and variable overheads X 100 per unit.
h) Indirect Labour Budget was % 6,000 per r month,
i) Depreciation was provided uniformly E::} {?} 3,000 petL n;t:lnth i N
' ds budget was Z 6.000 per month during ofi-season an
j) The'fixed overnes e themﬁwrem|um for fire insurance amuuntmj to

during the season. Out of this.
onth of each quarter.
2,600 was payable N e e g 0 2,000 were expected to be declared in

t
k) Dividends for the year 2008, amounting t  between March and April

sprea
March, 2009 and PEY"”E”IS were (0 be 5P er 2008 on3 manths credit.

in December,
?_TU.D—_@: ) iS ¥ 1.000.

_X and Y. Product X requires 10 hours to
es of Prc;duaﬁl;umh (25 days of 8 hours each) 500 units of
hours. In urs are 8,500 per month, the factory

Compute Activity Ratio, Capacity Ratio

e)

s two typ

fY are produce

e department concerned.

\-h_.______ _ —
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10.4 _
| f ils depan

o and Better, in one O Parimen

dities - Good units of Good and 600 unjg l:r

\5.1)14” Narang Ltd. Produces two commodities = S0 4
Each unit requires 5 hours asmgzguc;;nzr r,i]::{,:tlual' man hours spent in this productjg,,

Better were produced during 5
were 10,000. Yearly budgeted hours aré 96,000.

Compute the various control ratios.
city ratio is 105%. What is

E)/rhe activity ratio of concern is 95.6% whereas the capd
efficiency ratio.
following data .

_9,1'2-/ Calculate efficiency and activity ratio from the Lo

COST ACCOUNTING

Capacity Ratio = |
Budgeted Qutput = Eggg ﬁ:::z
Actual Output -=- . i

Standard Time per unit
/Q'ﬁ;-l XYZ & Co. manufactures two products X and Y and sells them through two diuisipng East
o and West.. For the purpose of submission of sales budget to the budget committee, the

following information has been obtained :

Budgeted sales for the current year Were..
Budgeted sales for the ot West

uc
Prc;{d t 400 atT 9 600 atT 9
Y 300 at T 21 500 atX 21
Actual sales for the current year Were .
Product East West
X 500at? 9 700at¥ 9
Y 200 atT 21 400 at T 21

ate market studies reveal that product X is popular but under-priced. It is observed

Adequ
tht if price of X is increased by ¥ 1, it will find a ready market. On the other hand, Y is over
priced fo customers and market could absorb more if sales price of Y be reduced by

Ke. 1. The management has agreed to give effect to the above price changes.

_____..-"
From the information based on these price changes and reports from salesman, the
following estimates have been prepared by divisional managers.

Percentages increase in sales over current budget is :

Product East West
X + 10% + 5%
Y +20% + 10%

With the help of an intensive advertisement campai ti
; i paign the following ad
above the estimated sales of divisional managers are possible. g RoCKions) sk

Product East West
X 60 units 70 units
Y 40 units 50 units

You are required to prepare a Bud '
get for sales incor ' :
~ also show the budgeted and actual sales of the curr;ﬁ T?E!;? the above estimates and

\/Q:‘é A company manufactures two
products A and B. Its sal |
December, 2013 based on the assessments of the diuisiuna?rsn;ﬁragt:?s rueearre erng 31

Product A its:
North 2,00,000 units: South 9,00,000 units and East 1,00,000 units.

ProductB : North 3.00 000 uni
B .00, units; South 4,00.000 units
Salesprice © A¥4andB¥3in all areas. e FestlL

Arrangements are made f

i ie Tor the extensive advertisi |

estimated that North division sales will increa:: rgjln;g Dgfngruucluqtt b ET ?:ﬂd r.litg
V0, nits each ot A and b.

Arrangements are also -
made to advertise :
where sales are expected 1o be 5 00 00 unaitnscl distribute product B In the Eastern areas
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i € est on
Prepare a sales budget Simates Dy 109, "®Presented an unsatisfactory target, it is

.

R
+ ‘Hn! 155 A company manufg
¢ ;1% sold in the first foy,

Cluresg bw

O prodyct
mMonths “'S Aand B
Of the yeqr i Qiven bef; forecast for the number of units to be

o w :
Prodyce A
February 3,000 gt
Marcr 3400 6.000
April 4,200 5+2u0
It is anticipated that f w0e0 4.400

7" From the followi
3,1( ollowing data prepare Preduction budget for the ABC Co. Ltd

Stock for the b :
Product e budgeted period
A As on 1st January As on 30th June
B 8,000 10,000
C 13'333 Pt
Required to fulfill sales programme - ! 14,000
A 60,000 units
B 50,000 units
_ C 80,000 units
Normal Loss in production :
A 4%
B 2%
C 6%
rﬂi‘L?'."'fABC Ltd. has prepared the following Sales Budget for the first five months of 2013
- Sales Budget (in units)
January 10,800
February 15,600
March 12,200
April 10,400

The inventory of finished products at the end of every month is to be equal to 25% of the

sales estimate for the next month.

requires two types of material in the following quantities .

Every unit of product

Material A ; :gi
Material B -
- ian are.to be on hand at the end
- half of the next month's consu 9513 In logical fom
Materials equal 10-07° , Materials budget for the first quarter o

of every month. PreparEf each types of materials to be purchased every month

p————

showing the quantities ©

. The Bright Star Cnmpany;zi
Expected unit costs, base

1 00.000 units of its products for 2013.

les for
budgeted sale 1 be -

past experience She

: 6
Direct Materials 4

Direct Labour 7 .
Mancfech.r0 — 40,000 finished units In hand but budgets the ending
r with av.

Company DEQi?s | -
inventory at only '+ ction for
gumputr: the budgeted cost of produ

013.

i




- ‘"-.' 4
-

3L e P L 1 . = A = 1
Ii:.- . ! S N
. _ J‘ . ?:h _ L _ .--'—!ﬂﬁ‘
CAR. K. Mgﬁ"—‘l
COST ACCOUNTING 10.6 — B
following is an estimate of the

The
419. Ac manufactures two products X and Y. of 2013

number of units expected to 1 400
January 500 1,400
February 600 1,200
March 800 1,000
April 1,000 800
May 1,200 800
June 1,200 300
July 1,000 ticipated sales for the next month
It is anticipated that finished units equal to half -thE Eg;rﬁ'lber. 2012.
will be in stock at the end of each month including ar ending 31 +12:2013 are as under ;
The budgeted production and pf oduction cﬂgt;m e ye Yuu
12,0
Production (units) 1 1'003 1 ;
Material cost per uni_t 12 6
Direct wages per unit _ 39 000 40,000
Production overhead apportioned ' er of units to be manufactured each

i umb
wahowing e ¢ hs from January to June 2013.

roduction budge
Prapare (2, & pro v t budget for 6 mont

month: and (b) a production coSs | |
A faci ks 8 hours per day for 6 days in a week. During each quarter of the year, it
e it lost due to leave and holidays. During the

Q.20: ry .
' ed that 124 labour hours will be _ ‘
\_/9’ Ir?eilay?e:ﬁﬁ;tcumpany expects to produce 10 000 units of Product A and 4,000 units of

Product B.

Required : y car
: r worker per : -
(1) Normal available hours pe pery ired if each unit of Product A

(2) Man Power Budget showing total labour hours requl
requires 2 hours and each unit of Product B require 1 hour.

(3) Number of workers required. | | |
(4) Man Power Budget showing Labour Cost, if wage rate is X 4 per hour for production

of A and ¥ 5 per hour for production of B.

\}ZA Ltd. Manufactures two products using one type of material and one grade of labour.
Shown below is an extract from the company's working papers for the next period's

budget :
Product A Product B

Budgeted sales (units) 3,600 4 800

Budgeted material consumption per

product (kg.) 5 3
Budgeted material cost 12 per kg.
Standard hours allowed per product 5 4

Budgeted wage rate T 8 per hour

E e

e

Qvertime premium is 50% and is payable if a worker works for more than 40 hours &

week. There are 90 direct workers. Efficiency ratio is 80% and id ¢
hours worked, o il . le hours are 20% of

There are twelve 5-days week in the budget period and it | "
. . S
production will occur evenly throughout the whole period, anticipated that sales and

It is anticipated that stock at the beginning of the per; |
d - oo
Product B 2,400 units; Raw Malerial 4,300 kgs. ¢ 'O0UCtA 1,020 units,

consumption,

Required :
Prepare the material purchases budget and the wages budget
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Q.22

ct
¥ 126 lakhs thig ye;rE::ﬁd Sells a ginq T CAR. K. MEHTA |
requires 3oy of _—>ed gn © Product 5
time of 7 hours inm;f”al P ang v 20% Profit gn ser;d has estimaled a sales revenue lo

A 1.5 . lin = =
absorbed at a rate gf gaﬂhme Shop mﬁfenaﬁj*ﬁrﬂ_ﬁﬂi& Each unil of the product

_ 1/3% 23ANd 2 % houre in o anUfacture as well as a processing
in @ normal 52 weekg ON Dirggy Urs in the Assembl
, ~©KS a year Laboyr, T, Sembly section. Overheads are
idle “m: amount to _@Eﬁ% e EEMWAM%
. as under - =TS fespectively in a year.
Purchase Price Materia| 1::‘i'r _ Y
Material 2 E Per b,
Labour Rate Machine Sho per Ib
Assembly i z % Per hour
Mo. of Employees Machine Sho E;;U per hour
Finish
Opening Stock ZGngg 3;?;5 Material P Material Q
Closing Stock 94,000 Ibs. 33,000 Ibs.
Estimated) 2 -
{ 2,000 units 30,000 Ibs. 66,000 Ibs.

You are required to calculate

(a) The number of units of the product proposed to be sold.
(b) PurChQSES}l‘D bf'.' made of materlals P and Q during the year in rupees.
[;} Capacity utilization of Machine Shop and Assembly Section, along with your comments

},za./ﬂ\ single product company estimated it sales for the next year quarter-wise as under .

_—-'."_'__h

first three quarters In the

(i) Production budget (
(i) Raw material €0
(iii) Raw material P

Quarter Sales (Units)
| 30,000
| 37.500
1 41,250
1, 45,000

| ' its and the company expects o
The opening stock of finished goods is 10,000 uni _
maint:in the closing stock of finished goods at 16.250 units at the end of the year. 1he

production pattern in each quarter is based o 80% of he sales of the current quarter
and 20% ot the sales of the next quarter. | -

ing stock of raw materials in the beginning of tl_we gea; is t1 BUSSS :gg Egch ol
Tlhe_nper:;i at the end of the year is required to be maintained at 9, .
closing S

finished output requires 2 kg. of raw materials.

[ jals in the
e entire annual requirement of raw materials
The compr 4 propos®> t rices given below

raw materials % 10 total Price per

o purchase th
pr%purtiun and atthe p

hase of | .
Quarter F“;“nnual requirement in quantity kg
30% ]
l 50% 4
" 20%
; next yeal, quarter wise
d to present the following for the Y
uired 10 _
. prodc in units)

nsumption bu
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C'.J/zt;

f .
szg On 30" September, 2012 the Balance Sheet of a Company was as under .
Llabilites : | t “;S:nzt: 20,000 _i
Equity Shares of ¥ 10 each [ 20,000 | Equipment "3t L '

Rgs;yrues and Surplus 10.000 | Less - Depreciation _5.000 15,000

Trade Creditors 40,000 | Stock %g,ﬂ{]{}

Proposed Dividend 15.000 | Trade Debtors N 000

85,000 | Balance at Banlg/n::;- 2 \ 35,000

’ 85,000

, : - th at an average selling price of ¥ 10 pe,
Z Ltd. had a plan for selling 5.000 units per mon 7 4 per unit and the fixed costs were

unit. The Budgeted variable cost of production was h Due to sh

budgeted at ¥ 20,000, the planned income being % 10,000 perrg;:tcﬁstuincrezszgat?e %
raw materials, only 4,000 units could be produced and the u:“ In order to imprnueytgu
paise per unit. The selling price was raised by T 1 per ul r}urre d for research €
production process, an expenditure of ¥ 1,000 was i e
development activities.

Required : Prepare (a) Performance Budget
Income and Actual Income.

and (b) Summary Report indicating Planneg

The company is developing a system of forward planning. and on 1* October, 2012 il
supplies the following information

Month Credit Sales Cash Sales Credit Purchases
L4 L4 [ 4
September 2012 (Actual) 15.000 14, 000 40,000
October 2012 (Budget) 18.000 5,000 23,000
November 2012 (Budget) 20,000 6.000 27,000
December 2012 (Budget) 25,000 8,000 26,000

All trade debtors are allowed one month's credit. All trade creditors are paid in the month
following delivery. Gross Profit Ratio is 25%.

O_n 1* October, 2012, all the equipment will be replaced at a cost of T 30,000, Z 14.000
will be allowed in exchange for the old equipment and a net payment of ¥ 16,000 was
made. The proposed dividend will be paid in December. 2012

The following expenses will be paid

Wages ¥ 3,000 per month, Seliing Overheads Z 1.500 per
year (to be paid in October. 2012) U0 per month, Rent X 3,600 for the

Required : (a) Prepare a Cash Budget for the months of October, November and

December, and (b) Prepare Income St
' atement sl
December, 2012 showing the amount of profit for the three months ended 31




Q.2.
Ans.:

Q.3.
Ans.:

CA R. K. MEHTA

an organization. udgetary control, Stay
Budget Is a written + Slate the agy
: plan - antages of
expressed in quantitati COVering projec - ges of budgetary control in
ative termg 1&Cted activities of g firm §
) m for a de

Budgetary Control is 3
S

Advantages of Budgetarisée
1. Thereis a plan
2. Budgetary pCDﬂ?;EIi ipuﬂ:ﬁa‘:h to €Xpenditure and .

preparation of the pug INes the ideas of ;ﬁflnanclng e busmess.
A budget provides an E‘ité t‘ erent levels of management in the
It directs capi ~cnlive whenever |
The DUdgetﬂ?é::ﬁfgfétiu o0 dhe m”;'lE;IrLfitabte channels
other resources for the E#Ei::td Expe‘]diture ensures suﬁicient working capital and
Budgeting co-ordinates the Cporaton of the business.

+ pipis activiti -
setting their limits and gnais_dw“'es of the various departments and functions by

fined period of time,

M Which ys
es bud
ontrol - get as a means of planning and controlling.

IS set on attainable results.

o ;W

What are limitations of budgetary control ?

Budgetary is not a foolpr _

fully aware of its limitatignfq'hﬂ: . Th‘?EE thl qunslder using budgetary control must be

1. The budget plan i principal limitations are as follov. = .

' get plan is based on estimates. The strength
control system depends to a large ext O of @ buage'ary
made. ent on the accuracy with which estimates are

2. A budgetary programme must be continuously adapted to fit changing circumstances.
E;:t":;“% it takes several years to attain a reasonably good system of budgetary

3. Execution of a budget will not occur automatically. All levels of management must
participate enthusiastically in the programme for the realization of budgetary goals.

4. No budgetary system will eliminate the necessity for superior executive ability In
every major business decision. In other words. budgeting does not take the place of
management but rather it is tool management.

5. Itis essential that there must be some co-relation between the cost of the system and
the benefits derived from it. It is quite common 10 find that operation of budgeting

becomes so costly that small concern cannot afford to adopt.

tials of an effective budgetary control system 7
stem .

What do you think are the essen
have complete co-operation of

The following are the requirements of 8 good Du*::jgeting sty
1. Co-operation of Top Management : Budgeting mus

the top management.
2 Maximum Profit The ul

timate object of releasing maximum profit should always be

kept upper most ' hould be established consisting of the
‘ . t commitiee snoud |
3. Budget dQDmt.m.___—rlﬁiﬁiéf ";‘xggﬂﬁfe officer and execulives of varous departments of the
budget directol. |
izati | ' jodic reports
organization . udgeling requires that perio
4 Effective system |F;ht::1u'-g be prepared promptly. As SOON as

dial action should be taken.
4 be realistic and represent

4. Constant Vigilance :n the actual resu

4 immediately reme
et figures shoul
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Q.4.

Ans.:

Q.5.

Ans.:

Q.6.

Ans.:

3. Estimating financial requirement :

. Briefly stat
Distinguish between fixed budget and flexible pudget y e the

circumstances in which flexible budgets are = d to change in accordance
A flexible budget may be defined as @ budget whicl >t to a fixed budget which |
with the level of activity actually attained. This is in con > 8 Of the level of Ectiw{z
defined as a budget designed to remain unc

actually attained. _ |
iven set of o

The figures used in a flexible budget are mure_adaptabli ILD I:?deggts e necesz?;h;g

conditions. It is more elastic, useful and prar;tnc:'al: Flellxl D ave owi, 0 o o

control. The object here is to asS€SS what any individual €O

the level of activity actually attained. |

s flexible budgets should be used :

dgeting which keep on introducing new
design. In such companies it is

Under the following circumstance

! ble bu
4 Those companies should use flexiol
products or make frequent changes 1N the product

¢ difficult to forecast sales with accuracy. . -
2. Irﬁg?.iestries with seasonal fiuctuations in sales and/or produclion like ice cream, soft

drinks, etc. should also use flexible budgets.
3 Industries which are more prone to changes IN
should also use flexible budgets.
4. Industries which are engaged 1s ma
flexible budgets.

fashion, like redy made garments

de to order business like ship building should use

What is zero base budgeting 7 What are the advar_ltages of Jzern base budgeting?
Generally budgets are prepared by taking previous year's budget as the base.
Adjustment are made in the budget of the last year for any changes that are liikely to take

place in the budget period.

Zero Base Budgeting (ZBB) Is a new concept in preparation of pudgetg. ln ZBB, instead
of taking previous year's figures as the base. every item has to justify its inclusion in the
budget. ZBB is defined as a system whereby each budget item, regardless of whether it
is new or existing, must be justified in its entirety each time a new budget is prepared.

The advantage of ZBB are as follows !

1 In ZBB all activities included in the budget are justified on cost benefit consideration
which promotes more effective allocation of resources.

2 |tis an educational process and can promote a management team of talented and
skillful people which lend to promptly respond lo changes in the business
environment.

3. Itidentifies inefficient and unnecessary activities and avoid wasteful expenditure.

What do you understand by Performance Budgeting ? What steps are required to
be taken for preparing performance budgets ?

Performance budgeting is a relatively new concept which focuses on functions,
programmes and activities. Performance budgets are established in such a manner that

each item of expenditure related to specific responsibilit . : ,
C
performance of that center. P y center is closely linked with the

Steps in performing budgeting
1. Establishment of responsibility centers : First of all

establishgd; A responsibility center is a segment
manager Is held responsible for the

responsibility centers are

of an organization where an individual
performance of the segment.

2. Establishment of performance targets : For each res ‘

In terms of physical performance to be achieved. Fmpunstbiliw center, targets are st

which is a responsibility center, larqe |
during the budget period. For gels may be set in terms of number of units to be sold

roducti
number of units to be produced. production: department, the target would then be the

In this step, the financial support needed to achieve

In’utrar words, the amount of expenditure involved
ysical performance is forecasted.

the physipal targets is estimated.
under various heads to meet the ph
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" tor Eﬂrrer::? and actiop, . Hal perform ti&f“f’"ﬂﬁl:‘# : This is an usual ste b

s 'V& action o b anang fom & . usual step in budgetary
G sebud azgy ﬂ-u-ritaken Hdgeteq Pertomance are analyssd ¢

st Budget Rapert b e anolysec and reportng

T AT, DUgets i e e DAL TR itg pegorny. L0 Y e s G
(eParts showing “comna ook 1S 0f 1y yes. Sential charagteristigs 7

g d at ez m2PArson | L Use y '
Rrepared at regular Arson o, Alual ang ﬂ'EEZEtth?_re IS 8 continuous flow of budge!
‘ ' Mgures. Budgel reports should b
responsibiity for g o3 S0Ud b ?:rr:;:?e"qs or e diferences batwegn actual and
favourable or U"?fa‘;'ﬂﬂl’ébll ¥1Ce.  Reparts Ehbu]um [&u;h 9 way hal they eslablish the
. € ang ASO Whether 5 v 9180 reveal whether a variapce 1s

g€l Repor; vanange is controllable or uncontrollable.
" ¥ L ‘E3Sentials should be. kept in mind while
be smple anq
e i 1| v . w1
ented promptly,
urate: . it }‘ .
ain only essental

(ak:1he;budget reports should i .
P A E". 11iq:, E Jils
2o theusen, ;. . . e ELHT.T:IHIE for the level 'of understanding of

L | |

“ & .

|niurnmuan=acmrdm'g to.the.needs.of Ihe user

Define Functional Budgets

Basic Budget and Current Brdﬂg‘i‘:te.r Budget, Long-term Budget, Short-term Budget,

Functional Budget :
g Budgets which relate to he individual functions in an organizalion are

Kknown as Functional Budgels. For
) R 4 example, purc
budget; plant-utilisation budget and cash bugget_p chase. budgel, sales budget. production

fﬁasler‘ Budget : !t IS a consolidated summary of the various functional budgets. It serves as
the basis upon which budgeted P & L A/c. and forecasled Balance Sheet are built up

Long-term Budgets : The budgets which are prepared for periods longer than a year are
called IDng-tEIrm budgets. Such budgets are helpful in business forecasting and forward
planning. Capital expenditure budget and Research and Development budget are examples of

long-term budgets.

Short term Budgets : Budgets which are prepared for periods less than a year are known as
short-term budgets. Cash budget is an example of short-lerm budget.

Basic Budgels : A budget which remains unaltered over a long penod of time 1s called basic

budget.

Current Budgels
budget.

- A budget which Is related to the current conditions Is called current

: tary Control?
e tandard Costing and Budge N
glﬁ;tln?ulsht th:::nstsandard costs have the commmon objective of cost control by
udget contro

tain basic principes which are common 1o
chi ‘ned costs. There are cer .

Eﬁiﬁ“bﬁhéﬂg Fr;'ii’i;glr;id standard costing. These arc being given below

0 udgeta

formance.
of actual Per rformance.
+ The measurement ol performance with the prEderterlmmed pre "
o, This compemsst O belween actual and predetermmed performarn

nce DE

o Analysis of the differe
e To take remedial stepP

| fsl
hese points o' ° .
IﬂSpl[E‘ of t Hard costing s of the organiz

control and stan | o

repare for d,lﬂer-e g per financial € Al

1. Budgets aré P 1 iassification ! g. recording @
i ]

ol difere
co | girements
the other hang. f furecﬂﬂ"]gurﬁgt revedl what the CO3

c
g where necessd y rnces between hudgtary

important difle

ation like sales, purchases,
ds. In slandard costng, on
\d allocating expenses.

al functions like finance.
ts are expected to be
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Q.10 Distinguish betwene conventional
Ans.:

revalead. Vvariances are used only ag

3. In budgetary co ' re not ;
getary control, variances & But under standard costing system

statistical informaton for exercising control.
variances are revealed.

budgeting and zero base budgeting

ve budget system in which while Preparing

budets, pevious years budget is not taken as base. Conventmnil m:dgetmg N any
organization is mostly done in such a way thal each year all depaf ne ';5 are given g
maximum amount to spend. No justification IS required on the part ?:: any : epartment for
spending the budgeted amount. The main disadvantage 'ﬂf such budgeting is that the
inefficiencies of the previous years creep Into this year's budget. In such a budget,

justification is to be given only for new or addiional funds required.
In ZBB, each item in the budget is required to be justifie:-d each year. In presenting the
to justify the needs of the deaprtment

budget, the manager of each deaprtment is asked _
according to his perception. The budet committee considers th_e requests of all the
departments and makes budget allocations according to the available sources. A ZBB

may be defined as a system whereby each budget item, whether ?t is new or e_xisting, has
to be justified in its entirety. ZBB discards the attitude of accepting t_he existing position
blindly. However, ZBB is a costly system of budgeting as It requires high volume of paper

work.

Zero Base Budgeting (ZBB) is an alternati



Zna

a1
(i) The unit Made gy
] ° 10 be solg iy difieren o0 qu:rlz:al g::?ufm-m he records of a company for
July 2006 Nt Months are: 7) in respect of product X.
August 2006 1,100
September 2005 1% ';Dvemhar o 500
October 2004 1700 .JaE . %500
(i) Finished upjts equal to h1|'9'3“ Nuary 2007 2,000
every month (; ) alf the gg
B (including June 2005;35 Ot the next month will be in stock at the end of
() Budgeted Production 5 ‘
thus: " Production cog for the year ending 31" Dec
Production (Units) ing ., 2006 are
D.lrect Materials per unit 22,000
_I[ihrteaci:tfwages Per unit T 10
olal factory overhead apgae: . 4
, PPortioned -
You are req!.ured to prepare. lo production < 88,000
(:] gLud:::tlgn budget for the ;ix months of 2006, ang
(b) mmarized production Cost budget for the same period.
2  The sales manager of
@ certain product ger of XYZ Ltd. reports that next year he expects to sell 50,000 units of a
Twe kinds of raw materials A and B are required for manufacturing the product. Each unit
of the product requires 2 kg of A and 3 kg of B. The estimated opening balances at the
commencement of the next year are — Finished Product, 10,000 units: A, 12,000 kg; B
15,000 kg. The desirable closing balances at the end of the next year are: Finished
product, 14,000 units; A, 13,000 kg; B, 16,000 kg.
Draw up a Materials Purchase Budget for the next year.
[Ans. Material A — 1,09,000 kgs.; Material B —» 1,63,000 kgs.}
Q3 Draw up a flexible budget for overhead expenses on the basis of the following data at
70%.. 0% and 90% pieny capesty, AT 80% CAPACITY
[+ ]
¢
Variable overheads: ' 12.000
Indirect labour 4,000
Stores including spares
Semi-variable overheads: | 20,000
o, fixed, 70% variable) . 2,000
Power (307 HXed. e (60% fixed, 40% variable) -
Repairs and maintend
_ 11,000
Fixed overheads: 3 000
Depreciation 10,000
Insurance 62,000
Salaries
Total overheads
N‘.‘-————_——-—-—_’_ — _4,. -'.- ;_. .:_-.‘._ :5 "I o i . '”-I':Er" E;:Ihu. r‘-* i
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last Six monthsg of 2006 “;n';ats been
=

Fri et 1_.".::- -,
il e ML . =|.‘-‘_.];‘,'-1E'.'
pitanch SRS o SR B N e P
L "'":I'.." . .r_"-ljﬁ'h-ll ],
" | -
" S T e ‘.l'.-:h'"
ALY s LA

o ¥

. m oy L SRR o BT A s S fr e
i AR ity D T - Rl N ik
F - 4 " e 1k




—-—-.-__.-_‘__h

COST ACCOUNTING 10.14 CAR K MEWTA )
acit
Q.4  Prepare flexible budget for the overheads at 50%. 60% and 70% CE:T G;:"f' CAPACITY
T
Variable overheads ¢ 6,000
Indirect matenial ¢ 18.000
indirect labour Z 30.000
Semi-variable overheads. Z 3000
Electricity (40% fixed. 60% variable) '
Repair (80% fixed, 20% variable) ¢ 16,500
Fixed overheads: v 4,500
Depreciation ¢ 15,000

Q.5

Q.6

- Insurance

Salaries

The expenses budgeted for production of 10,00

Matenals

Labour

Varniable overheads

Fixed overheads (2 1.00.000)
Selling expenses (10% fixed)
Distribution expenses (20% ~.xed)
Administration expenses (T 50,000)

Ll

Total

0 units in a factory are furnished below

¢ per unit
70
25
25
10

13

E‘
n | =

|

Prepare a budget for the production of (a) 8,000 units, and (b) 6.000 units
Assume that administration expenses are ngid for all levels of production

The budget manager of Jupiter Electricals Limited 1s preparing flexible budget for the

accounting year starting from 1 July, 2006.

The company produces one product — DETX Il. Direct material costs ¥ 7 per unit. Direct
labour averages ¥ 2.50 per hour and requires 1.6 hours to produce one unit of DETX Il
Salesmen are paid a commussion of Re. 1 per unit sold. Fixed seling and administrativg

expenses amount to X 85,000 per year

Manufacturing overhead is estimated in the following amounts under specified volumes

Volume of production (in units) 1,20,000
4

Expenses 2.64.000
Indirect material 1.50.000
Indirect labour 90.000
Inspection 84.000
Maintenance 1,98,000.
Supervision 50,000
Depreciation of plant and Equipment 94 000
Engineering services G 70 000

Total manufacturing overhead
Prepare a Total Cost Budget for 1,40.000 units of production.

1,50,000
L

3,30.000
1,87,500
1.12.500
1.02.000
2,34 000
90,000
94,000
11,50.000

[Ans. Total Budgeted Cost of ¥ 28,55,000 at the level of 1 40,000 units)
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cnnstructazzxﬁéﬂrm u;?g; MﬂintEnancE Dener CA R. K. MEHTA |
Detaiy Hdget o be u?hma"“ for hipirlmem N response to a request,
S of cosy during |h .Spartment that are to be used to
9 the Coming budget year
Employee - Plann
Ind|lr:'jec51: : Salaries direct ri.d at 6,000 Planhed at 9,000
1 MisERTIA cpair Materig|g Pair hours  gijrect repair hours
pne 210" W Heous cost, gy 30,000 30,000
(8) Prepare a flexiblg p,,q 40,200 60,300
figit wﬂeﬁljnqre te;l Qf 1 gel f':lr thE ﬂepart 13'2[]0 1E,EEIU
ortt 10 V(b)” What wolld'be fHE‘b‘L?dDD hours), Mentup to activity level of 10,000 repair hours
[AHS. {H} 6,000 hrs. o get a"UWEncE at 8,500 N :

9,000 hrs.

- 000 h
!1, . . -5 7 9 . .
(b) ¥1,03,150 “7-11i3l-.10 000 hes. Sz 145000, o

y/ Draw a material Procurement b UMV TETE

. ud tat
Estimated sales of g progygtis: ﬁ:t{ﬂuanh;atwe} from the following information: *
material A and 5 uni@‘%m?tﬁfial B ?C:TUTIIIIS.‘FEach unit of the product requires 3 units of
E?tfwﬁl?d‘?P.Enlinglbalances at the E3-'3'";!1’1""5!1'::'5n"uant of the next year:
pne N FASREd ' Broduct’'“o ) 101 Teehno ool 5 g o - year .
czlA 1200 Islul dhhdﬁ‘[@’riﬁfi 1200 baxt bng 1eny :de 16¢ 1- | RIILS 5,000 units “PF‘PUK
sarymy & . L.'.IFI"' YRR ri-1.| [ 210 luntan nea, L T Y ua.._ﬁ“ 1.. Ndl ‘
1200 DaJopbUU I s VAU . 21 IV0Mun Daapbud Y a0 jeon 520 u-t zﬁlgggumlt;
Materials on order- | !Lm
i FART=S ~3iT] b .
Mater!al A 7,000 units ¢f-fdv ol
Material B

| 1,000 units
The desirable closing balances at the end of he next year:

Finished product

7,000 units
Material A 15,000 units
Material B ' 25,000 units

Materials on order: |
Material A 8,000 um.tﬁ
Material B 10,000 units

[Ans Material A — 1,30,000 units; Material B — 2,14,000 units]

Q.9 The following are the estimated sales of a company for eight months anding 30.!'2,2005:

Estimated sales ' :IE
Montis (units)
12.000
April 2006 13,000
May 2006 9,000
June 2006 8.000
10,000
July 2006
06 12,000
August 20 aoh
ber 2006 14,
Septem 12000
October 2000
November 2006
\\-z—————'
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As a matter of policy, the company maintain

materials as follows:

Q.10

Q.11.

Q.12

Stock item

Finished goods
Raw materials

Every unit of production requires 2 kgofrawm

' i its) a
Prepare production pudget (in uni
cost) of the company for the half year en

Prepare a flexible budget for rprqcl
basis of the following information:

s the closing palance of finis

Closing balan
50% of the estimated sa

Estimated consumption
aterial

nd Raw
ding 30 September, 2

uction at EG per cent and 100 per

hed goods and ray

ceofa month
|es for the next month

for the next month

costing T 5 per kg.

Material Purchase Budget (in uni's and
006.

cent activity on the

Production at 50% capacity 5,000 ur:lt:.nit
Raw materials T B0 pe i
Direct labour X 50 perunt

Z 15 per unit

Direct expenses

Factory expenses
Administration expenses

From the following data. prepare @
75 000 units, distinctly showing varia
inciicate element-wise cost per unit. Bu
per unit is as follows .
Direct Material
Direct Labour
Production overhead (variable)
Production overhead (fixed)
Administration overhead (fixed)
Selling overhead (10% fixed)

Distribution overhead (20% fixed)

7 50.000 (50% fixed)
7 60.000 (60% variable)

| i 000 units and
flexible budget for production of 40,

b?e cost an?i fixed cost as well as total cost. Also
dgeted output is 1.00,000 units and budgeted cost

95
50
40

:

5 i
10 ,
15

Goldman Company Limited operates on a system of Flexible Budgets. With the aid of the
following information, you are required to prepare Flexible Budget at 80%, 90% and
100% level of activily showing the profits that ‘would result at these levels :

(i) The present sale of 8,00,000 units at X 10 each is at the normal level of 80%. If the
output is increased to 90%, the selling price will be reduced by 2.5% and if the output
reached 100%, the original selling price: will be reduced by 5% in order to reach a

wider market.

(i) The prime cost per unit is I 5 made up of Direct Materials ¥ 3.50, Direct Labour
¥ 1.25 and Direct Expenses X 0.25. If cutput reaches 90% level of activity and above,
a saving of 5% can be effected in the purchase price of raw materials.

(i) Variable Overhead — Salesmen’s commission will be 5% of the sales value.
(iv) Semi-variable overhead at normal level of activity are .

Supervision

Power

Heat aRd Light >
Maintenance

Salesmen Expenses
Indirect IABOur
Transport Costs

These are expected to increase b
reaches the 100% level.

4
80,000
70,000
40,000
00,000
60,000

1,00.000
2.00,000

y 9% if output reaches 90% level and by a 10% if it

e

_._-----'-"""-|
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Depreciation T
AdVEft_lsemEnt - 1.00,000
Administration 4,00,000
Sales DEpEr‘[mEnt 9.00,000
General 7,50,000

[Ans. T 10,00,00 200,000

1 he profitabilit 0% 13,863,750 (90%) a THR0
Q. ity Statement of Bt nd ¥ 15,40,0000 (100%))
0.

Sales (30,000 i Ltd. has been summarized as follows
D?re::t Materials ¢ X
Dlrg::t Wages 4 50660 15,00,000
Variable Overheags 3,00,000
Fixed Overheads 1.20,000
_Prufit 440,000 13,10,000

During the next periog t 1,90,000

X iod, the Co B
is proposed that the selling r;r?:; }'T__waﬂ Produced and sell éne — third Jextra quiantity.
should be reduced by 59 of_this only pro uct manufactured by the company

L
= 1

proposed reduction Mt%wwmcn should show the effect of the
g price and include any changes in costs expected during the

coming year, The following additional Information is given
_Ah~Sales forecast X 19,00,000 (after reduction). |
Jué "D!FE'Ct material prices are expected toincrease by 2% per unit
_{!ll}' Dlrgct wage rates are expected to increase by 5% per unit. |
{iv)-Variable overheads are expected to increase by 5% per unit.
_(v)-Fixed overheads will increase by Z 20,000.
[Ans. X 2,40,000]

Q.14. Paints Private Ltd. Company, manufacturing a single product, 1s facing severe
competitionin selling it at ¥ 50 per unit. The company is operating at 60% level of capacity
at which level the sales are ¥ 12,00,000 and variable costs are X 30 per unit, S_erni-
variable costs may be considered as fixed at X QU.UDDI vghen _autput is nil and the variable
elements in T 250 for each additional 1% level of actw:tﬂy._ Fixed costs are ¥ 1,50,000 at
the present level of activity. But at 80% level of activity or above, these costs are

expected to increase by ¥ 50.000.
To cope with the competition, 1

to reduce the selling pricef t;znﬁv ) of 60%, 70%. 80% 90% assuming that

operating profit at levels of
{Es The selling price remains at T 50

! ice | ced by 5%
b) The selling price IS reduce | :
(A) Profit —» RS. 1,65,000; 7 2,32,500; X 2,50,000; ¥ 3,17,50 ]
iy figures for the year 2011

Q15 XYZ Ltd. provides you the following Product A
1,250
its) - Ist Quarter 2 950
Sales (in units) Ind Quarter v
llird Quarter 3,100
|Vth Quarter 724
ing price per uni
Selling p 20%)

Target for 201; _ e decmaﬁﬂ] 25%
Sales quantity mmﬂ: chreaEEJ

Selling price increas

012.

g year 2
udget for the ¥ 200,000}

Product B
1,600
800
1,000
600

T 50

25%
(20%)

he management of the company is considering a proposal
%. You are required to prepare a statement showing the
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FcosT.accounting _fe® .o -— ._;_-m_w-au;u -
i il i e i - ln G =
Q.16. A manulacturing company provides you the mllnwmgprn.duﬂt | ?l‘ﬂiukt;t B
" 2 H-g , i h .
- 2K
Material X @ T 3 per ka, 1kg ‘| v ) Gﬂg
Material Y @ ¥ 1 perKg. 1D,DUD_ | | A 0

i

al
Units to be produced as per production budge

R Ma{h‘ﬁ’él‘bﬂ"—" oL 07 F Material Y
12,000, k@8: . e %-ggg ‘;Q,%:.r:u
g Stgek -"16,000 kgs. : gs.
pening Stock | | |

Estimated closing slock

dget. AV YR o
Required : Prepare Direct Materlalui%fﬁh;';‘:jiilg* i zu,[}ﬂﬂ'kgﬁi_{zi Zﬂ.ﬂtl“}]

' . kgs. (31,20, . A ANUER T
[Material X rdﬂ.ﬂﬂﬂl |

factory. They are thrﬂugpifwn ;;-";I-_;st centres A

. oduced In 3 Nl ~hine Utilisation in
it Ly EmeESltT' :j( aEtl; ?ufﬁ?;rfel:ir compile a statement for Budgeted Machine
and B. From lhe G¢ ’

Inventory of raw material ;L v (40

I.-I 'II | =5 I"jl‘-.

vy 00

i p -1 ' ) -
" both the centres bt | i benae
(a) Sales Budget for {he Yoa! s . Closing'Stock'”
Product Annual Opening of finished .,
o Budget_ﬂ'd 5}?“ 'JE[ . : 1| N7 Al Gﬁqdlﬁj *
Sales (units) _ finished . ..
| | GDﬂdE lunits}- vt ol t_!]-:- FeUoL U RN RO
el T a0 . " Egwvalentto.2 months sales
" 2'4;}0 300 ... ... . Equivalentio2imonths sales
) | Uk 200 . . Equi 2'maonths sales
D e ~ Equivalent'to: £ man
Z 2,400, _BD. 09 16 “RVEE T i

(b) Machine Hours required per unit

Machine Hours PerUnit' = .,
Machine A Machine B
X e B0 s b =l eleed RO
Y | .., 200 61 po s W0 ssgernon
Z . - I. . | 30 4, ._..'.., 11 20 (w18
Prepare (1) Production Budget, and Ije?) Machine Utilisation Budget, .. ...y oy
[Ans. (1) Prouct X - 5,000 units; Product Y — 2,500 units; Product Z.— 2,000 units

1 Ty s

(2) Machine A —7,10,000 M. hrs.; Machine B —» 6,40,000 M. hrs. ..

Q.18. X Ltd. manufacturing three products, has the following difeﬁt labmjlr rEq'ﬁiféFﬁe'ﬁEs for the
products - 1 epnre ent antilanrmon orf

w9000 0]

Direct Labourtime per unit{in minutes) '~ 1= e ol
Operation " _'Product’ ' TR R LR Tl AP BT -V aTe
| A1 & S . .I;'.:s'*'_'. [~
I 18 v 42 J ! B L -30 | (a1
” fi B o ; ey n 3 g .": :-_. ._..:1 12{:'.‘_:_...__. . t 1‘.5" ) -2:4}!:]1”' ;:1 ﬂ_.l.}
1l .
.9_ et Bt g o sty Bl AT L2ED
The:factory works 8 hours periday! 6 days in a week. Each budget quarter has 13 weeks

and in terms of leave, holiddys and other causes 124 'hours aré’\ost'in' éach-
. ours are’lost’in' éach-quarter.
Operahpns [ Il and Ill have the budgeted hourly rates for workers atZ 16 2 20 a?m < 24
respectively. The budgeted sales of the products during the ‘quarter are |
Product]  9.000 units Tk Vi
Product 2 15,000 units
Producl 3 12,000 units.

s of Product 2.and.4,000
IS proposed to have closing stock at it ' | Units |
Product 1 1‘003 units bl IhE_ budget EIu_art.rl as follows -
PfDdUC! 3 2|DUD|UH“E' ' Tt & -, pregeid o) _— B rl'h'__l'i'lhlll!!\}'l-ln
LR el 4 J A AV b1 A

— - i ——




Eﬂs{"ﬂ CCOUNTING

Required :
1. Proudclion g

| ud - — _ UWCAR KMENTA |
2. Direct Laboyr o o

_ Ho
3. Available Labnurﬁif”“g'ﬂ .
4. Number of workere o PE Wo

: ke
5. Direct Laboyy oS f€aureq, " Per Quarter

st Bug
[Ans. 1. Product 4 10 get, .
units 000 Units Product 2 Lt 1t B2 S nLerAl
2. Operation 1315 gg N — 10,000 upits; Product 3 -» 10,000
3. 500 hrs ) hrs Gpﬁrﬁﬁﬂn 246,000 1:|.|: i, 00!
4. Total 47 Workers &t $. Operation 3-»2,500 hrs.
5. Total b g )
Labour Cost 7 41“.00{}1 |
Q.19. Production costs of 5 fa
Direct Wages T
Direct Malerials 80.000
Production Overheads. Fixed 1.20,000
Production Overhead i 40.000
N | S, Variable 50.000
{;}’”{‘hge ai;arg:?::'ﬂfg year it is anlicipated that
hour € 1or direct Iabour remuneration will fall from ¥ 3 per hour to T 2.50 per
(b) p_rudu{‘.'ti-:m will remain unchanged
(c) direct labour hours will increase by 25%.
The p'j”ChEEE price per unit of direct materials and other materials and services which
comprise overheads will remain unchanged.
Prepare : Production Cost Budget.
[Ans. T 3,03,333]
Q.20. The following information relating to the third Ianci last quarter of 2003-04 are furnished by
a company which manufactures and sells a single pmdw_:l : _ _
- - | Third quarter Last quarter 1
(Actuals) (Estimale)
T 3624000 |  ¥6,60,000
Sales S — ' Closing Closing
Balance balance
_ ' 23,500 25,000
Raw Material ‘A’ (kg.) 13,400 1?%3?}
Raw Material ‘B' (kg.) 700 '
Finished goods (units)
___.___-————#-'*"ff_-_
: - T 30
Unit Cost Data : 10 kg.@zg S 710
Raw Material ‘A’ 5kg @
Raw Material ‘B’ chop = % 20
Direct Labour £ 4) Maching STEF — 2 40
(Machine time 5 hrs. @ I
Assembly 2 hrs. @ X —
(labour time) -
Production Overheads :
i f 12 pEl’ nr. : sl
Machine shop @ o of production € e
Assembly @ % 10 per P"- | 20,{” EHW@/f’R
Selling Overhead . 10% 07 . -

_Profit margin —

‘-"‘-'l—-—
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You are required to prepare for the last quarter of the year
(d) Statement showing selling price per unit.
(b) Production budget (in units)
(c) Purchase Budget (quantity and value)
(d) Total cost budget.
[Ans.a. T 200 per unit.
b. 3,600 units
c. Material A — 37,500 kgs.; ¥ 1,12,500;
Material B — 19,600 kgs; T 39,200
d. ¥6,48,000




P
on Q%D
s
| —— Unitg Au‘g. S
Estimated sales _Units | OoP- | Oet. Nov. | Dec | Total |
, : 1,100 nits | Upj ;
Add: Closing stock 1.100 ts Units Units
— — 250 | g5 1.700 | 1,90p 2,500 | 2.300 | )
, 1,55uq'-""g'——_5_5g_ 1,250 l p
__,'__E_ngpemng stock 1950 | 2650 | mree 2150 | 1,000
production 550 | 550! ‘g 3,150 3,650 | 3,300
= 1100 | 140 [ Troet —220| 12501 1150
Frnd—-j-~—_-3_“fi__ 2200| 2400 | 2150 | 11,050
For the ein - Clon Cost Bud _ |
B € SiX month get

——15 ending Dec., 2006

Direct matenal

(Production: 11,050 units) |

@3 10 for 11,050 units

Direct wages
1,140,500
*Factory overhead @2 4 for 11,050 units 44 200
Total Production Cost @3 4 for 11,050 units 44;200
) verhe - — - 1.98,900
Factory O ad per unit=3 88,000 + 22,000 units =% 4. . |
Ans. to Q.2 Production Budget
Sales during the year - 5
: 0,000 units
Add: Des '
dd I;}ri t :Ied stock at the end of the next year 14,000 units
L ess: Expected stock at the beginning of the next year O umlls
Estimated production 10,000 units
54 000 units
Raw Material Purchase Budget L
Material A Material B
Kg. Kag.
Consumption during the year 1 08.000
A — 54,000 units @ 2 kg per unt T 162,000
B — 54,000 units @ 3 kg perunt 13,000 16,000
Add:  Desired stock al the end of next yea 1,21,000 1.78.000
Less: Expected stock 5t the commencement of 12 000 15.000
the next year hased 109.0% —
Quantities of material to be PUrCEE=== B




YT il cﬁnﬂm@l
(TR IO0Z
" At80% w
: ,  capacity capacity i .0 '*ihbity
z e omeite e by .'-"f‘l ? ) ?
1> ) . Pt _-___--T""\-,
: Variable overhéads: e sy
=¥ el . "N 11 ! 1 '10 EGD 12 DU'U- 13!
L0 Indiréct labour o o by 800 4T}DU 3.500
Stores-includiig spares o3 S P
. i
Seml-\r‘anable nveme;lds | 13012 AR
' Pﬂwer Fixed. - . -6,000 5r'009#_. ™ f_fi 00
Variable | 12,250 . 14,000 135,750
‘Repairs and Maintenance: .« .o o i
thed r, j 2 o 1114200 1,200 1,200
diny 08 a0 bo1d " Variable 700 800 900
it P it L LN W ' . o .
| Fixed Overheads: o s ton fendd
Depreciation 11,000 00045 11,000
Insurance 3,000 | nooed00Qihed 3,000
il Salaries 10,000+ !-"i"-'ﬂ_tlf_t)_!jt_&* il
Total Overhead 58,150 | _ BEJ UD
Working Notes: .
U - o ¢ .
1. Indirect labour cost at 70%: 15 o 121000 20 = Ry.10,500 S0 ot .znA
90 B maemal
at90% = l._,UD[]x-é-{-]-- Rs. 13,300 4 UL

Slmllar calculation for other variable item, i.e., stores. -
2 iner—leed 3 6, DUD Variable =Z 14.000. .

Variable power at ?D%

! . iy |
| i =1

" at 90%

Similar calculation for repairs and maintenance

?0

= 14 UUDx-—?lZ 250
80,

s .4 A F1" %9
fet Bl

90

- 14,000x >~ =%15.750
80

3. Pirect Iabuur-huurs at 70% = 1,24 D{J{} x% =31 (]8 500
0 _ 90
at 90% = 1,24,000x—— = %1,39,500
| . 80
TR Py o
Ans. to Q.4 Flexible Budget
50% 60% 70%
Variable overheads: : < .
Indirect materials
i 5,000 6,000 7,000
~Indirect labour 15,000 18,000 21,000
Semi-Variable overheads: ' |
Electricity — F ixgd 12.000 12 000 12,000
o Variable 15,000 131000 21,000
pairs — FIK.Ed 2400 2'400 2,400
Variable 500 600 700
16,500 16.500 16,500
T —— - — e ————— ———
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[ Fixed DEErhEadE 23
eprecig — :
Insn.:r'-ilnm;mI \\\H 1 BAR K. MEBTA
SEIEHES L sy, 4500 -
000 = , AR 15 4.508 .0 01 =500
angqm ~ “g‘g-g-g—g 15,000 | 15,000
erh “__"-“——- ~ 93,000 | _1,00,100
b B S
1.;1 arﬁﬂﬂfﬂfs "’-‘Klbte B — J
' arfahla EIPEHSHB - 8 Udget
+ Materiale 1 oos ¢ e 900 unis e
arer WIS pp 007 1o , Hru[_}_ﬂ'units o 10,000
2 Labﬂlﬂ' e ‘?U| 4 20 S TR :

3. Variable overheads 251 5 000 70 560,000 "'V 79  700.000
4. Variable selling expenses 25 iwﬁ Egp' 101 281642,00.000.1,9 (@25 2.50,000
5. Variable distribution eXpenses 11.70 70 200;1 cozy25,,.2.00,000 25 2 50.000

Total Variabjle Expenses —2.60 33800 " 1;_?9 93600 1170 1,17.000
Fixed Expenses: 137.30 82380 ?E__r__-_ﬁ_'lf .. .44800 580 _ 55000
{. Fixed overheads . , . | oo 189030 L'LB.E_&.?Q 33?\‘3 13.73.600
IKEd EEh IE 2 16‘5? & 1|U SVAT & - pi, sy
3 Fixed distribution Expenses > 13.000: = qep5 0 e 13 600" £a 13,000
4. Fixed administration expenses. . . . 3; 14,000 175 14000 14 14,000
Total Fixed Cost 3&%5 L. 1??___'13_{3il e R0 5 50,000
4~ -Total Cost -EEE—BE 1E_M ¢2.125 177000 © 174  1,77.000
o -8V -10,00,800 159.425 12,75.400 .155 15,50,000
Ans. to Q.6 o
__Budget for the year ending 30" June, 2007 _
| e Output 1,40,000
'Y units
- J 5§
Variable Costs: atsn e dan "'
1. Direct material %E 7 e; i} 9,80,000
2. Direct labour @3 4'pe runit S ~5,60,000
3. Salesman's commission @ Re. 1 per unit | | %J-rtﬂ,atﬂﬂuu
4. Indirect materials @ % 2,20 peLUnibd Jomon st 18 Al e ‘-‘"_~-=*I!- 3,08,000
5. Indirect labour @ 1.25 per upit: .« fuuin co oo T TR 1';2'33{{]}
6. Inspection @ X 0.75 per unit —— , —
Semi-variable costs: -y aaute '- 54 000
= — Fixe | '
1. Supeivisien — Variable @ ¥ 1.20 per uni 1?3333
, _ ed 'I' eh .M .
2. Maintenance - E:na b,_@ Re. 0.60 pér uit " t 84,000
ik :|l 1'
Fixed Costs: 11gu0) Jophu@ Inamena0tt ZEE 90,000
1. Depreciation . gg ggg
2. Engineering SeVICes e bgLpst T | 28.55,000
3. Selling and dlStI"IDUtIDH exp s 21 . ota
B ACTIIUL S T = o
— | p_;,-,Ry_g;,gf;-_.[}nﬁ—.I,-‘JH.U'UU ke
su ENISIU“ CBSt ‘heinge in l:'ﬂﬂf — — s LR T .
P . = o n oulput I,SU.ﬂUUW‘ 120,000 unis
Variable cost per unit (hange ! g g
36,000 000 _ pg. 120 per wnit = e T
= ﬂ ¥ EA000
30,00 _(1.20, 000 x 1.20)= =% 541000
= 198,000 -
: <inon COSL ~ st.
S supew;:;?oﬂn tor maintenan <
Similar calcu B .
‘_‘_':!'H——




1. Employee salaries is a fixed cost
2. Indirect repair material is a variab

= 36,000 + (8,500 hrs. x T 7.90)"
=% 1,03,150.

Working Notes:

hour.

3 Misc. cost is a semi-variable item. It is separ

as follows:

Variable

Fixed

Total fixed cost

1}

and thus is the same at all levels.
le cost @ ¥ 6.70 (re. 40,200 +6,000) per repair

Difference in cost _ 16800 - 13,200 _ 3,600

Total variable cost per hour = Indirect material + Misc. cost
- X 6.70 + 1.20 =T 7.90 per hour.

Ans. to Q.8

Difference in hours ~ 9.000-6,000 3,000
Z 1.20 per repair hour.
13,200 - (6,000 x ¥ 1.20)] =X 6,000.

Employee salary + Misc. cost (fixed)
30,000 + 6,000 =X 36,000

CAR.K ME
COST ACCOUNTING 10.24 HTA |
Ans. to Q.7
(a) Flexible Budget
For the period....... 5 9.000
- 7,000 8,00 ' 10,065~
Direct repair hours G.l-;W ’ ?DDU 33 . :uu
. Employee salaries 30,000 au.ggg gglﬁgg 50:300 %
| Indirect matenials 40,200 45, 000 6 000 6.000 7,000
M Frin 60001 g 9600 | 10800 | 4o
IsC. cost . Fixe 2 200 8.400 . _ 12%0
Variable =400 | 91,300 | 99,200 | 1,07,100 | {155
Total ! =T |
ir hours
(b) Budget allowance for 8,500 repair |
- Fixed cost + Variable cost for 8,500 repair hours.

ated into fixed and variable components

Before preparing material procurement budget, it is necessary to estimate the production
during the next year. This is done as given below:

Add:

Less:

Estimated sales
Closing stock

Opening stock ,
Estimated Production during the year

Materials Procurement Budget (Quantitative)

Units of material required
(@ 3 units of A and 5 units of B for
"2,000 units of production)
~* Closing stock required
Material on order

{

"ing stock

'on order
-

15,000
—8.000

12,000
7,000

Units
40,000
7.000
47,000
5,000
42 000
A B
Units Units
1,26,000 2.10,000
25,000
23,000 10,000 35,000
1.49,000 2.45,000
20,000
19,000 11,000 31,000
1,30,000 2 14,000




55T ACCOUNTING

CA R. K. MEHTA |
Pro :
ductf:ri? 189t for the
Esﬂmated .SEIIEE 12,0 Units ne July Aug. Sep.
“d : Closing stock 000 1300 UMits units units units
Add - —Tﬁ,iu\u Py 9,000 8,000 10,000 12,000
L Estimate  ~uction 20 85 3200 13000 16000 19000
Es 32500 3 000 —4,500 4,000 5000 _ 6,000
Raw Matery o —2200 9000 11,000 _13.000
- aterial Purchage Budget
April Or the j':'lear ending 30-9-2006
‘g K“Y June kg July Aug. Sep.
y g kg kg kg
22,000

17,000  18.000 22,000 26,000
172000 18000 22000 26,000 26,000
100 35000  40.000 48000 52,000

17,000 _ 18,000 22000 _26,000
18,000 22,000 26,000 _26.000

" 4,0000 1,30,000 1.30.000

‘N0% capacity
00 units
Total
<

* 000
I'\
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1 4

Ans. to Q.11. Floxiblo Budget —

T i 00160 Ul petubit ﬁ RpUmE " | 75.000 U__n!‘qu__sﬂ B

i_t—.l TR ETTVY S . L fgr._;J Per|,  Total Per Total

. . v Uh){r (hi) Lf'?'l e Unit ____1‘__'_' .

S-S — - S T~ 7 T 10 QusA

Variable Gnst | T -

rbTr_E-cT Matenal 95 | | 95.00.000 95 _?’QLU_D'DDE zg—-— ;? ZE_EQQ

| Dwect Labour - 50 | 5000000 | 50|20 ”“-”gé; AR Sﬂ;gﬂﬂﬂ
Production Overhead R . 40,00,000 B0 15'23'300 9| 67 5—'%@%
Sellmg Overhead = (930%) | _ 9 3 _E’LBPFGQ PP I %EEE_]EE 12 g 00 (}EU
Distribution Overhead = LBD% 12 | 12,00 ﬁﬂﬂ g 2. 5 206 | 154 & =0
TQEaIVarlablg Cost 206 2 06.00.000 206 82,40.00 T TﬁJ_]_UT.ﬂQ___EEF?_
Fixed Cost oot - RET ST ————_

' Production Overhead 9 S-QO{[{DE . 12 50 5,000t ﬁg% jn't'{ﬁ‘ﬂ&'@._
Adminisialve Overhgad | (5 500000 13601 500000 L 837 530000 ]
Selling Overhead 1| 100000 2504 1,00,000 | "33 -.,;%DG

| Distribution Overhead" ‘37 3.00000 | _ 7501 3.00,0Q0, ;tgg%g s LANAAR
Total Fixed Cost 14 | _14.00,000 | _33.00 IADDUUU 18.67 | 14

FotalCost™ "~ - 920°(72,20,00,000"7 231.00 | 96,40,000 224.67 | 168, 5D unn

_ 0F.0 of .2nh
Ans. to Q.12. Gq!%EQbCu Ebil | t'}_uqu ,
vhokUb v Uid i b 1‘-!“‘]‘ ":1'* : Capaf_"t}r LE"!{‘:IE
| ar ) { “El'l'lhl_l | ___1‘ v 00 JE-:Jﬂllﬂ:ff;tg._]L 90% 100%
", "Sales (units}, 8,00,000 g,00,000 ~10,00.000
-2, Selling Price () ) 08 10 G5 5 E‘"r"r”‘*”'{ 9.50
L3, Sales (). . Hsﬂ 00,000 87.75,000 o 95,00,000
1: :4 f:‘:}sts Jw. 3008 1 E 1209 9rmi19
A, Van’abfe Costs “ 192N9YRT 10106
Lol LDirect Matenals 1 WU 28,00,000 29.92.5’@2]:;,__ 32,25,000
*;‘-: O S, (8.00 699 %3.50)  (9.00,000 x 3 Qz%m} (10,00,000 x 3.325)
Direct Labour 1000000 200111823000 eirimba  12,50,000
@ 1.25 perunit) 0.5 gldsneV
D:rect Expen'ses ~2,00,000 2 25 000 2 50.000
el (;@ Re.0:25.perunit) e RG] tzao lsloT
Variable Overhead ; |5 B A G R | 0 Caldia® nl
(Salesmen Commission 4.00.000 TS -
@ 5% Df Saies Value) e Y SIS foge ~{ﬂ3.?5=0,|* w0l 1 475,00
SO 6 1, | L nare naat 20 Posxt b eSS
B. SEml'?ﬂrﬁbjﬂ Costs:iii &+ & PTG M 29280m 1200 stdeney IsioT E
E“F’EWEIDH e e LeL 801000 @0 120 siK.gpg i 129 88,000
ower 70,000 73,500 77,000
Heat and Light ' '
40,000 42.000 44,000
Maintenance ' :
50,000 52 500 55,000
Salesmen Expenses 60,000 5-{ FUDU
Indirect Labour 2,200 66.
Transport Costs 1,00,000 1,05.000 1.10,000
2,00,000 2,10.000 2.20,000
C. Fixed Costs :
Rent and Rales
Depreciation 1,00,000 1,00.000 1 00 000
4,00,000 00
e — e e ———— = v e 4 lg‘;}_q‘qao 4 UGID
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1‘_--_—-‘--_-—"_"‘—-—‘
Advertisement N

Sales Department

CAR. K. MEHTA |

General g'gg'”““ 5,00,000 5,00,000
T +~9.000 2 00 000 2.00.000
MMlniﬁtrﬂth Eﬂnuu 50 000 £0.000
Total Costs _7.50,000 7 50,000 7,50,000
5. Profit = (3) — (4) 70,00 000 74 11 250 79 60 000
. 10.00,000 13,63.750 15,40,000
Aps. 0 Q.13. Fo
7. Sales fécast Statement of Profit
2. Less . Variable Costs - 19,00.000
Direct Materia|
Add For increase on account of 4,50,000
sales volume (1/3 x 4.50.000) 1.50.000
| 6.00,000
Add Increase in price (2% of 2 6.00.000 12 6.12.000
Direct wages E_HDEI MDDD
Add : For increase in sales volume o
(1/3 of 2 3,00.000) 1,00.000
4.00,000
Add : Forincrease in wage rates
(5% of T 4,00,000) 20 000 4.20,000
Variable Overheads 1,20,000
Add : For increase in sales volume
(1/3 x 1,20,000) 1—;2%’0%
8 1.68,00
Add - For increase in rates (5% of T 1,60,000) __ 8,000 o 000
Total Variable Costs . 7.00,000
3 Contribution (1) = (2) 4 40,000
4. Fixed Overheads | 20,000 _4,60,000
Add: Expected Increase in fixed overheads 2.,40,000
Profit




CAR. K. HEHTQ

COST ACCOUNTING 10.28
Ans. to Q.14. Paints Private Ltd. Flaxib;EyEudgel 0% 90%,
[24.ugginits} (28,000 units) (32,009 units) ”E-““‘; units)
L4
9,60,000 10,80,000
Variable cost 7.20,000 8.40,000
Semi-variable : 90,000 90,000
Fixed 90,000 ?gggg 20,000 22,500
Variable e 50000 200000 200000
Fixed Cost 1.9, 097500 1270000  13.92500
Total Cost 975008 FL 00 1600000  18,00,000
(a) Sales (Selling price 12.00.000 Y,
5 4
:r;;lmng Y 2,25,000 3,02,000 3,30,000 4,07,500
(b) Sales
{SE"IHQ price 1s reduced 1o 15 20 {}DU 17 .10 UUU
. 30,000 el T
50, 5% reduction 11,40,000 13,90,
:n?ﬁtw n ] 165,000 2.32,500 2,50,000 3,17.500
Ans. to Q.15. Sales Budget for the year 2012 |
Product A Quantity (Units) popeon ;‘ gyt
Quarter | 1,000 Lt 4 ?D.BDU
Quarter || 2,360 T30 » 6418013}
Quarter |l 2,160 30 -
% 30 ¥30,000
Quarter |V 2,480
8,000 < 2.40.000
Product B
Quarter | 2,000 340 < 80,000
Quarter Il 1,000 T 40 < 40,000
Quarter |l 1,250 < 40 < 50,000
Quarter IV _750 < 40 < 30,000
5,000 < 2,00,000
Ans.to Q.16 : Direct Material Purchase Budget
Material X Material Y
Budgeted Consumption
—» Product A 20,000 kgs. 10,000 kgs.
—» Product B 16,000 kgs. 8 000 kas.
- 36,000 kgs. 18,000 kgs.
() Clnsiqg Stock of Raw Material 16,000 kgs. 4,000 kgs.
(E_Jdggf;cling Stcr:r‘ck of Raw Material (-) 12,000 kags. (-).2.000 kgs.
urchases 40,000 kgs. 0
Purchase Price X3 /kq. - Dzn? :l"(k_g_
Budgeted Purchase Cost <1,20.000 4 20100_6
Material X Computation of Budgeted Consumption
Product A = 10 000 units x 2 kgS = 20.000
! , . . kgs.
Product B = 4,000 unis x 4 Kgs. = 16.000 I'(QS
Material Y 36,000 kgs.
Product A = 10,000 units x 1 kgs. =
' . = 10,000 kgs
Product B = ‘ - ; gs.
4,000 units x 2 kgs. = 8.000 kgs.

18,000 kgs.
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Godgeled Saies | - —Produety —— o
() Closing Stock i ?‘M“‘ Product ¥ Product Z
O 800 x £ _ 800 — 2,400 units 2 400 units
[.-] Opening Stock —I-Z-_______EEE‘_‘. 2,400 _2_. =400 uni 2 .
@B_m Production i:_‘_@_':’_\yﬂﬁ — 12 units | 2,400 x 3 =400 units
5000 unjts 2t () 800 units
. uni .
Machlnﬂ Utilisation B o nit
Units Machi i
Machine fod — Hrs JUnit Total
uct X 5.00[] E!iﬂhll‘lg Hrs.
Product Z 2000 200 1,50,000
30 5.00,000
Machine B ~ 60,000
Product X 5,000 ” 1.10.000
Product Y 2,500 o 3,50,000
Product Z 2.000 . 2,50,000
40,000
Ans. to Q.18 : 6.4 0
. (1) Production Budget
, Particulars Product 1 Product 2 Prod
Budgeted Sales 9 000 uni . fachict 2
,000 units 15,000 units 12 000 units
(+) Closing Stock 1,000 units ' ,
Onening Stock - 2,000 units
(E‘)d pening o10C ' ' 5,000 units 4 000 units
u geted Production 10,000 units 10 ni 10 unit
(2) Direct Labour Hous Budget
Operation Product Units Timel/Unit Total Time
| 1 10,000 18 minsutes 3.000 hours
2 10,000 42 minutes 7,000 hours
3 10,000 30 minutes 5,000 hours
15,000 hours
[ 1 10,000 - =
y, 10,000 12 minutes 2.000 hours
10,000 24 minutes 4,000 hours
3 ' 6,000 hours
i 1.500 hours
000 9 minutes ;
1l 1 13 000 6 minutes 1,000 hours
2 i - i
3 10,000 2 500 hours
rker per quarter
: our Hours P wo
(3) Available L "-:ler 13 weeks x 6 02YS X 8 hours) 624 hours
Total number of hours 1A a qu; —-—-—u—ﬁ;z; n”m
() Hours lost due to 18" e et available hours




COST ACCOUNTING 10.30 —
(4) Number of workers requi
: _ 15,000 hours = 30 workers
Operation 1 = 500 hours/worker
& 000 hours = 12 workers
Operation2 = 200 hours/worker
2 500 hours - —iﬂt_;_g_‘_r'_.i_
Operaton3 = ——~
pe 500 hours/worker M
(5) Direct Labour Cost Eud:E: ,' -
ate
Cost
Labour Hour
Operation _Hours 7 16 < 2.40.000
| 15.000 7 20 4 1.23.0003
" g'ggg T 24 : 60.0
i L 4.20,000
23,500
Ans. to Q.19 Production Cost Budget -
Ans.t0 Q.19 : - o
" Particulars ) 1 5_; 500
Direct l;ﬂate-gaia_{gncgjl@pdr -33 333
Direct Wages .
L ]
EBU.DUU » Rs.2.5/hr Jplus 26%
| < 3/hr . I
Fixed Production Overheads ) B 40000 |
Variable Production Overheads - : 60,000
Budgeted Production Cost I B 03.333

Ans.to Q. 20 :

(a) Statement showing Selling Price per unit

Materials Cost
A 10 kgs. @ T 3/ka.
B 5kgs. @ 2/kg.

Labour Cost
Machine Shop 5 hrs. @ T 4
Assembly 2 hrs. @ 5

Production Overheads

Machine Shop 5 hrs. @ X12/hr.
Assembly 2 hrs. @ T 10/hr.

Production Cost
Selling Overheads (20% of Production cost)

Total Cost

1 1
Proft =- of Sal e
l 10 ales g of costJ

Selling Price/unit

_

i n

%

40

30

oo
-

—
en
o

'I:_-J
-

-
oo
(=

g I



& ) .

—

e mm— g —

10.3¢
(

b) Prog
¥ 6,60 Uction g CA R. K. MEHTA
eted Sales [ 9U,000 udget
Budg %200/ it (st quarte)
(+) Glnsir?g Stock of Finisheg Googs 300 units
) UPE';:E:::; ;f Finsiheq Gooqdg 1,000 ynite
roduction (_%
~3.600 unjts
(€) Rat Materiyy
A Purchase Bugget
udget Consumption Mater
material A (3.600 units x 10 kgs ) —aterial A Material B
Material B (3,600 units x 5 kgs.) 36,000 kgs
*) CIGEH:'IQ Stock of Raw Materig) 18,000 kgs.
(-) Opening Stock of Raw Materig| 25,000 kgs. 15,000 kgs.
Budgeted Purchases (-) 23.500 kgs. (-) 13.400 kgs.
Budgeted Price/kg. 37,500 kgs. 19.600 kas.
Budgeted Purchase Cost . 33 22
» 1,12,500 339,200
d P . -—J—.|.5_
Raw Material Cost (d) Production Cost Budget
Material A 3,600 units x ¥ 30/unit 1 u; o~
Material B 3,600 units x ¥ 10/unit 6,000
Labour Cost
Machine Shop 3,600 units x ¥ 20/unit 72 000
Assembly 3,600 units x T 10/unit 36.000
Production Overheads
Machine Shop 3,600 units x T 60/unit 2,16,000
Assembly 3,600 units x I 20/unit _72.000
Production Cost 5.40,000
Selling Overheads 3,600 units x T 30/unit 1.08,000
6.48,000

Budgeted Total Cost
Note : The "Closing Balance” information of third quarter is "Opening Balance’ informationin
. context of fourth quarter.
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CAR. K. MEHTA _|

ARGINAL —— ____LAR. A

Mrnpute PIV ratio in the ¢ COSTING

Q.2.

y/

Q.5.

Q.6.

Q.7.
Q.8.

a) S.P. Perunit = Ollow
Variable c;:t;:rﬁnit = M
b) ;rfutgl sale of 1,000 |, i =
ariable cost = 7 45 e #0000
c) Totalsales=% 5 o
Fixelcl costs =% 1 E;Jdﬂun
Capital invested = < ???3% 000

Desired it =
Profit = 20% of Capital emplg
yed

T12

d) YFirst g
ear (3 econd
Sales 80.000 l Year (3)
Profits 10.000 90.000

| 14,000
P/V ratio of a firm is 40%, what
are the various conclusions you can draw.

Calculate B.E.P. in uni
! 2.5 1IN units and | - i
X 18, fixed expenses ¥ GD,DGG_IH value if variable cost per unit 2 12 selling price per unit

Cj'alculate B.E.P. in units from the following -
Fixed Expenses : k

Depreciation
Salaries 21,00.000
Variable Expenses : ¥1.00.000
Material
Labour T 3 per unit
: . T 2 per unit
Selling price 2 10 per unit

Also calculate new B.E.P. (in value) if the selling price is reduced by 10%.

Fixed expenses X 3,00,000
Variable cost per unit 375
Selling price per unit T 100

Calculate .

(i) B.E.P. |
(i) Selling price per unit if B.E.P. is prought down 0 10,000 units.

Sales X 4.00,000
Fixed cost 1.80,000

Variable cost 4 2,50,000
tal amount of sales In order to break-even.

B,CandD- D in 33 1/3%. 412/3% 19 213%

sell four pro e . S
.A Gﬂmpan)’ S dWIdEd I'HBA';F 63{%' E[‘]ﬂfn and A0% of E’E‘“mg pnce of A,

hich |
sales are 7 60,000 Wk .
o o T ar'?DD. Calculate composite B.E.P.

113% respeCtWE'Y' e 4
EIEr":(iJaaru:i [;respectiuew. Fixed cost3 |

. _________.d—-——-'——hy
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COST ACCOUNTING 11.2
Q.9. Product S.P. Per V.C. Per % of Rt\ﬁi?r?re
Units ¥ Units ¥ SEIEZD
X 4 3
Y 5 p "
i 8 6

Q.10.

Q.11.

Q.i2

Q.13.

Q.14.

Q.15.

Q.16.

Q.17.

Q.18.

¥ 15,00,000 total sales volume
Annual fixed cost ¥ 2,30,000.

Find: (i) Composite B.E.P. (in !u_f'alue)
(i) Profit at 80% of capacity.

Capacity .

unit selling prices of these products

The corresponding unit variable costs are X 50,
) in which these products are manufactured

Total fixed costs are Z 14,80,000.

M Ltd. Manufactures three products P, Q and R. The

are ¥ 100; T 80 and T 50 respectivelg. :
? 40 and Z 20. The proportions (quanhity-wis€

and sold are 20%, 30% and 50% respectively.
you are required to work out the over all break-even

- information, :
Given the above such quantity.

quantity and the product-wise break-up of

Fixed costs ¥ 4,500;
Total variable costs ¥ 7,500

Sales = T 15,000, |
Calculate (i) Margin of Safety; (i) M.S. Ratio (percentage).

M.S. 40%, B.E.P. ¥ 48,000
Fixed cost ¥ 15,000; Profit¥ 10,000 |
Compute P/V ratio with and without using M.S. Ratio.

Sales ¥ 6,00,000
Variable costs T 3.75,000; Fixed cost ¥ 1,80,000

Calculate sales to earn profit of ¥ 1,20,000.

Sales are 200 units at ¥ 10 per unit. Fixed overheads ¥ 300, Variable cost X 6 per unit,
There is a proposal to reduce selling price by 10%. Calculate present and future P/V ratio
and find units to be sold in future to maintain present profit.

A company has a P/V ratio of 40%. By what percentage must sales quantity be increased
to off set 15% reduction in selling price.

Selling price per unit T 20
Variable cost per unit < 14
Fixed cost< 7,92,000

Required :
(1) B.E.P.; (ii) Number of unit to be sold for a profit of ¥ 60,000; (iii) Number of units to be
sold to earn a profit of 10% of sales.

Fixed expenses ¥ 4,000 and B.E.P. ¥ 10,000
Calculate (i) P/V ratio; (ii) Profit when sales are Z 20.000: i) S i *
(iv) New B.E.P., if selling price is reduced by 20%. 53 N S Tor profi-of € 20,000

Fixed Cost = ¥ 1,80,000
Variable Cost =¥ 2 per unit
Selling Price = ¥ 20 per unit

Calculate (i) B.E.P. (in value); (ii) Sales for ' e | .
earning profit of T 36,000. @ profit of X 36,000; (iii) M.S. if company is
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a.19

Q.21.

Q.22.

Q.23.

_-_'_‘_‘—-—--.._________‘_-_ —_—
My T

e

_-_‘_—_-_h-_—-—_'_'_
Sales ) ___ CARKMEHTA |
Profit (X) 2011 Year
Calculate : (i 8.10,000 2012
) PN rati 21,600 10 26,000
64 800

sales are ¥ 6,48.000: 0. (i) Fixed cost (:
) ' ' t {.it ] i
rofit of T 1 V) Sales emains s
P .08,000. to earn profit of 7 13815&63;15; meayears]. (iii) Profit when
il S. if the company earns

Sales 4,000 units @ % 25 per
urnit

Mat_eria! consumed
Variable overheads 40.000 1.00.000
Labour 10,000
Fixed overheads 20,000

1
Calculate : Net Profit 18.000 58,000
1. BEP —200

2. Units to be sold for profit of 20% on sales

3. Extra units to be sold
: . to maintain th e
4. Selling price per unit if B.E.P. is brnigr:?gt::iietignﬁ?ugrf: 1: ISR SRS
iLa.

A Coaching centr i

participant.gThenrt::stdiiE:Esdtu conduct a lest for which ¥ 100 is charged from each
Also. 8 SUPErVISor is ed in connection with paper checking 1s X 60 per participant.
supervise maximum nﬂfr?l;gtfdnrhfn [;s paid T 400 for this job. He 1§ supposed lo
participants if fixed cost is T 40,000. students, Compute break-even number of

PNFFEHD is 50% M/S ratio is 40% and sales are 7 50 lakhs. Compute B.E.P. and net
profit.

The executive of B Co., 2 small manufacturer of one product are developing the annual
profit plan. They are concerned with the X 110,000 indicated profit on a sales volume of
20,000 units. The fixed cost structure of % 9.90,000 appears to be high and they have

some doubts about departing from the units sales price of ¥ 100. There is a general
agreement that the profit target should be ¥ 2,20,000.

[ o compute | .
You are required t P d in units and the number of units that would have

(a) The break even point in rupeesf;:n
ofit.
to be sold to earm the target profl 1 o illophig 1€ atves

(b) You are also required 10 respond directly 10 eac

.Aeration by the management. |
Al consiéers Y o 15 contemplated, the sales execulive
Id by 15%. \What would be

: - ~e increase of 20°
Alternative 1 A sale pr:::SEE 5 drop in units that can be SO
: - units 7 What would be the new profit
n target profit ?

gse Of yariable costs
s 7 How many units

io be sold 1o €3
55000 and 3 decre

- ts of 2 _
v new BEP in TUpee

_ gse in fixe
2 . Adecr® -1 would be the




